TERBRE R 224 (4. 198D)
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— ~ Hj Bl

KR TRE » TERKBBFERRE ~ KEREFEESETIRER (unc-
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FENTE KRR DR REETEE » SNBSS R o
o~ BKERER
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EE[BR
BEBR 15 VB i % 1 [~
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EEXY
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stk E ~ REEALER
FHAEBEAKE : 10,000CMD
BEARHEGHKE : 13,000CMD
#¥AK BOD : 300mg/2
SS : 250mg/ 4
* S B KR TR

*OEFREKFITRER
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TEREHEH 5221 (4. 1987)

fenAc BOD<<40mg/(
SS<40mg/ ¢
Bststa CU ] AERMEERERED
Lk
Q=" H HRE+ERL LB+ BAEEE » AEREFESTHAS 3 %
(FERBEERE) RIQZ =T H B EX1.03=10,300 CMD
R EE30542 » Al V=Q><T=1o,300><_l-io@-‘=.215M3
HALZMX6M X3M (KiZE) —ih
255K E
Q=FHHGKEX 2 {F=20,000CMD
(BRFFHREUFIEHZ1.3~3.0fZ)
BERHBEIOM » B KFE#Z60% » Bl
B8 (FP)=20,000X10/(6,480%X0.6)=51. 4
WIRFATEARG 3 & » K 2 5fEH
(0.5CMS LT 2~44 Hh1AH
301 X10,000CMD(Q) X 10M(H)
3HHE
Q=%* Hi5E/KE=13,000 CMD
X BRI #I1510% (—# 5 ~15%)
B4 =10,000x2500.1X10"3=250kg/day
REREIY » HEL.025 Y
v =(250/(0.1x1.02))X10*=2.5CMD
4.1
Q=& A HFEKE=13,000 CMD
REEREET =608 » [ REEE30~605 5k
W =Q X T=13,000x60/86,400=9.0M?
HH 12MX1.0MX0.8M (KZE) —ib
Vu=13,000/(86,400X1.0X0.8)=0.19m/sec
T HFKE=10,300—2.5=10,297CMD
MW AKSS=(10,000%250%0.9)/10,297=219mg/(
RULDEN510%
5IEE=10,297X219X0.1X10*=226kg/day
REKEE9Y 5 HEL.105 5 Bl
HIEBE NV =226X10"%/(0.01%x1.05)=20CMD
Hi7KSS=219X0.9=197mg//
O FIFR YTt
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TREUEHE 55228 (4. 1987)

Q=10,297—20=10,277CMD
KIFERET=1.5/ K &5 UBEL SN
v =QXT=10,277 X 1.5/24=642M?

ARER 29 » D=16M$ » H (ih@A%KkE) =1.6M

EEBHE=10,277/(2X _E%@f"):zs.esCMD/Mz 0.K.

(25~50 CMD/M?)
REEVTER M =200CMD/M  (LIARHE:E250CMD/ME& ]
EE=10,277/(2X200)=26M > 2 &H%50cmE » i
EE=7(16—1)=47TM o O.K. :
BRSSEMREFISY (F£ErER25~40%)
B YR E=10,277 X197 X 0.35 X 10-*="709kg/day
;4K 2898.5% » HE1.017
HIREER v =709x10%/(0.015% 1.017)=47CMD
HEKBOD#5294mg/ 4 » #7KSS=197mg//
H7KkSS=197 X (1—0.85)=128mg/¢
H7kBOD=#BOD— §SS# x> BOD
=294—0.65(197—128)=249mg/ ¢
(BB M:SS(565%)
6. R R AL
QERET=FVTIhE K — B IREE + BN ER
=(10,277—47) 4+ (10,277 —47) X 0.25
=10,230+2,558=12,788CMD
BREREWGIRZIEER10,000mg/ 4 » Al
2301 ,000
MLSS= _10,230% 2?2+’§égss><1o 0
BODE=(10,277—47) X 249X 107*=2,547kg/day
BODEKRZE=(249—40)/249=84%
#%BOD&THE 0.32kgeBOD/kgsMLSS-day (—§%0.2~0.4)
t =<249 40)/(2,103X0.32)—O.31day=7.4hrs

=2,103mg/ 4

¥Y=QXt =12, 788)(»2-4—:3 943M*®

BRI 29 > KE3SM o H
A =3,943/(2X3)=657M? » #Z£33M(E) X 20M (%)
mﬁgzm.ﬁ—fmU a’Y+b'Z s e '
a’ : &Eklkg BODFFE R (kg+0:/kg-BOD)(0. 35~0. 5)
Y : HRBODE (kg/day)
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THRERE  H220 @ 198D
b’ : MLSSFTHE & (kg+O,/kg-MLSS-day) (0.05~0.24)
Z : BRENEEGEMLSSE (k)
U=0.5(249—40)X12,788X107°+0.1X2,103 X lzf—xmjssxm-a

=1,336+4829=2,165 kg+0,/day
REPEEHBER0.1 (—i% 5 ~15%) - Al
EEEQ.=2,165/(0.23%0.1X1.29)=72,970M%/day
7. VLB
Qas+=12,788 CMD
RE YRR t =2.5hrs [(FHHBRKEZ2.5/ 8]

Y=Qxt = 12,788 x%——mgzms

AR 23t 0 666 M® » i BOKTEER2.5M » B
A=267TM?> D=18.4AMZEHD=19M » A =284M?
S AR =12,788/(2 284)=22.5CMD/M? [20~30CMD/M?]
REMESRF=150CMD/M [150CMD/MIE £
HEE=12,788/(2X 150)=42.6M » 2 4H:850cmE » &l
BEE=r(19—-1)=56.5M O.K.
ENERFI19M$ X 2.5M (Y& B H G
FEIKSS ¢ 128mg/ g » H7KSS<<40mg/ s
.. SSEBRE=(128—40)/128=68.8% [HEHEEMBIEE80~90%]
#KBOD : 40mg/¢ » H7kBOD<40mg/ 4
9.5 R AR e
UG YE(SS)709kg/day
TR IBYR(SS) (10,277 —47) X (128—40) X 10~*=900kg/day
UL B YE(BOD) aY —b X MLSS X 3 X 1072 » Hrl
: BODZ HiRiE#a2s » 20.65 (—i%0.5~0.8)
b : EEARERZ » 20.04 (—i%0.01~0.1)
Y - £EBODE » kg/day
Vo EER
a1 0.65X(249———40)X(10,277—-—47)X10'3—-0.04}(2,103}(12'?4X(10,277—47)
X 1073
—1,390—265=1,125kg/day
WBERE=7094+900+1,125=2,734kg/day
BREKEIY, 5 HLEL.02 5 Rl
0=2,734X10-%/(0.01X 1.02)=268 CMD
HIEE=20+268=288CMD

w




TEEFYER 552218 (4. 1987)

i g12hrs (ARG SIBREZ 12N ERFE AN
W =288%X 12/24=144M? » ZZEFE 4M

A=144/4=36.0M? s £ D=7M A=38.5M?
KRR ) £ 7% =288/38.5=7.5CMD/M?
11426~34CMD/M* &3]

[ 8 B 7 =2,734/38.5=71kg/M?-day 71160~00%¥s]
RBIRRKEFEY » Al

100—99 __
288 X 100-—9_6——72 CMD
W% Q=288—72=216 CMD
9.ff K 52 055

MK B Rt peng » ER A EETHEME -
BRRIR KB B AKEZTE%

o s oo, 100—96
RREB=T2X 15075

BIEWK Q=72—12=60CMD
WH 2 HREMRE EERRFRRKCREEKE
216CMD+60CMD=276CMD » B EZ300 CMD BBEET » Xt ERE

=12CMD

-~ B RS SUERET

A EEREMRFHERA » SREBEX MM SH— > LERET ¢
LEMBAREBETREEINER L TEEMHAEBRE > SHEMETRET
TUBEEZER » RESRARHEINFEEIZR - A TALEHALERNA -

2 BT EERETEAR o

BEHBEANETAREELEZRT » R HEEEN RIS -

LA SRR ERBETNE BA o EHFEEE AR EFERN —RICREGRHEE
ER-EENERE TARTRTAE ZHBRMNEZER » ETNREENSRZZE
2o

SRERFTHRETRRATEIETRIZES -

6. LM AR R AR AR R A RBA TR » DBIEIRUR « BERREROERGT -

TR ELFR B RN TEEESE o

T~ R EEERETE R A Sk

PRt OIRVIER A S BE R R U R RERTERERS » RIFE » REEL
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TEEBYTR 552218 4. 1987)

BwOAE X B OB
()FEH HETE  CMD-reererenrnne. 10000
(OB (BA FERENTHA) 1.3
(BEFLK  BOD(mg/L) seeeereeeses 300
(@)K SS(mg/L) cerrereerensen. 250
(&) K BOD(mg/g) +eveveveves 40
(6t z< SS(mE/f) «rereerereveons 40
(T8 A 52

HEEE—T

| BARBERY
| (AR AR RO TS RS
BBATE
OEMEFEXER

BRI AR5

FARIF ~ WIHKRE R
(Da&E+4aes
(2)F%st 2

AR ERS

el KR IR B
(S (BEHRBEBTER) e 2
(3)%@7‘[(;?‘@(4&; ........................... .5
(4)?;}32&@%5&%%3 Moeeerraecarcsssaccnnas
B)EASER
(DRI 80 A 572
@ LI B R EE

HRE—BRIHRIOMES
A WRYE R

| BRI R
BB BT R
BEAER
COEEEFEURER
 EEEITRARE

AR ~ WA R R

(S8 EFHREHTIGED e 2
Q) F K= Meterearrionennnnnn.. 3

(B)FHTB KRB eeeverversronninninnnnnn. 5
OBHIBEIEIE Meerereoeereannieannns 15

= = ot 3
E S R R

AKFE 1k

E4AM X E4AM X 7KZE3M

G RERRET VT ER20,000 CMD
BT8R 8559251




B AR

TEEGUBAE 452240 (4. 1987)

BEEAE A
Hrp 1 B4 A

45550 X10,000CMD X 15M
BREHFBIH(Y/N)

C EMARSERS
() A 2 B T BT

FRHBABSR(Y/N)y B AT
OEBEFESER
PR AL (5T
WoE o R oA OB R
(L0 K TABTREEERY oo 1 ik #9250ke/ day
Q) MR Z B 7K everronrennrennnranieninnsins .9 HUREERE2.45M3/day
VBRI 2 LB v vevnrevnrenrarensenmineinaineins 1.02 #92.5CMD
(AR REEFR /N
T
(V)& HE (M) cerevesarsenisrnninnnee
(2) {2 SE R RS (FB) sereeasrrroronisnnananne
()45 1,000 ST K FAFFHETL D Borerrer
(AUTIDZ 27K H veererenrnarearnaraeinsinineins
(B)TLRDZ H B veorrersannnssnenanonsontansannnnnen
(6)HB I +esvesreosoerosrsaraaransuansoraassarasionsns
(7) 5 Hrvverneresresrnsrnarmansisnsiossnsssssoses
OBASR
AV T EL AHAR AR SRR

(RM0.3MELE)  SEEEEEAS
| RE AR
AR .8 REEFHACY/N)

(A% A B RV TRz G 5RTS
(B A E 6t

 OEEEFEUER

BT

gL o RO

(WAE#KZE (M) seermvreeenereeesaesuns 8
(2)(= B REH (FD) errmnrmarmarnnenennnins 120
(3)8 1,000 3275 KT AR BF(ETTED Broeeveves 02
(DL 2 B R eeerrenesiesitiiaieticcncasannas .99
BYITLHD 2 HeTE eevrereerenresiusioninninnieniennes 1.105
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TERT5HEIHRES228 (4. 1987)

OF i S e e e, 2 5 VRBERE =4CMD
(@%%ﬂ: .......................................... 1 %@E%%?T'KY/N) »
®OEASER

WO o % o oo o2
(1) 5pRs CREE) reeeerreniennnen, 1.7
QBRI E (M) wvrervereerrnnnnnn, 3
(B) BB Hrerrverrecerrranenurannns B 1.5 HhEFE61m?
(A E v reerrerrnronsererinnenenn. cererssienees 4 RIOM X EE6M X K EIM

CETIERRTZEMS/m.d eeveerveens vereenes 200
(B)SSTEFRZE  eerrreenrrrerineieereurerennn, 35 5 HEE KSR » GEEREL M
(DN TBYRZ BTk E vreeerrerererecurensnenann, .98
OV YR H B eenrearenne treressinaiessansnene. 1.05 BIRET87 . 2kg /day
(O)VSSIETBYR B vereerrarrrernan e UREEFE37CMD
WEASER (#A)

: H7K  SS142mg/y
HiZKBOD 238mg/¢
=B EFHRF(Y/N)

— kR OE ® :

(DT TBYREE v ererrmscnareeerureesesinnsnssonnn,

(2) BE M A (B S e vove e reeerreeeacreneeas
(B B YELE s+ eeneeer verrernreeeennrensesnns

— %k E E B & AT
DI TEYR e reeereerireeeeeieainenn. 25 REA4 S
i ) BB YRIEEE vevereremsrrrseneensannn, 10000 £24M X E14M X K EESM
1 (BODBYRERT «everrerreercerernnnrns 3 [EEIRE 7 . 5hrs
i (4)BODE?E§§IJ§ ........................ .7 BOng%gggg%
O =231 3 3 BUREL5.13 5
P (6)55 B v e 4
B (BB H rieniiinieeenennnnnn, 1.6
()G A 52 R,

o * = £ =
(MFRER kg BODFIBEE - oo |
| OMLSSEREAFFEAE: oo |
| BEIRITZE cvenrerrerereerennna, e |

| (OBAASERL '

i
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TIRGHBH T 45220 (4. 1987)

ZM o ode o3
nZ il IR

()R TBUYRF e rererrenratisaieniuennnnens .25 BAAMN &
& (@f@ﬁﬁ?{)@(fg{g .......................... 10000 BE24M X FE14M X 7K 723M
P (3BOD [BIBET evrerrereonereeceannens .3 (B BIEERAT . Shrs
= (4)BOD ZEBEETH eo-eererrerranranronnans 7 BOD 475839
i (B)EZBIICEE e veseroerorrcranirnsnrenionien. 3 FERES.13 5
T (6 e vevonenenne oo 4
B (DB B Hoecrerrecronionienionioncocrocionnons 1.6 FE4 52, 835kg-0/day
(B)E A SERK 72 B95,551M3/day
| * ® & = | OBERETRE
(DEREHIkg BOD FESRwwrerdS | g
| @MLSS BEREATFTEEE wrveeereer .2 | .
REOET3 - IR ereees B | , (NEXT STEP gkt
i@%ﬂ%& z ......... sEmEim. L., .o
B LR B R CIE
(=R hrs eeceeeees rereraeieaieniens 2.5 B 4 e EE89Im?
Q) B AKE Meessecenisaieaienionneniscnens 3 EI3M X EBETM X K ZE3M
(3)ER P E e enroeronranennsnronnunens cereneens 4 FHHEERELS28.2M/m2.day
() BB Hreeerearvereacans crserenieriennnan coserns 1.6 548K s SHEESL.TMX50cmE
GCEWIESRZE  CMD/M-ererrernens 150 SSEMIET2Y
EEASTERK S
=EEHRI(Y/N)
GO G I s
(1)ZEEx BOD fyi5 R I #Rz e sreensenes 7 LG IR (SS)787 . 2kg/day
QERBTEME  1/day e .05 IS VL5 IR(SS)1,046kg/day
(3)E 7K A eererernrerirarnenntieninerenes ereeeens .97 FULIL5IR(BOD)1,082kg/day
() HE B eereoreancancacoaracinans Geestentssiestonnan 1.02 W5 URE2,915kg/day
(5)f 5g R sl hrs ceeeeeerereenens crneeanes 12 HREETE136CMD
(EVHIERIKIE M veervercrrenceernveninsnne 4 IR B R68M Y S2
(DB eerveesarcaannaninnn. Geencesinnnnenn cereses 2 A TES. MR A E A3, 3M
(B LB A TBIR AT B e rrrrnnicsrenranenanannns .96 KRS BT 16M?/ME.d

OFATBR

Bl 517 685.9kg/M?-d
A% 9T R B RIB101CMD
EEHES5CMD
EEEHEE(Y/N)




TRTGHEI 55228 (4. 1987)

B XK 8 B 2 & B/ O B OB
(DIBIERERE (hr)eeeeeeeennnne 4 SRS EE51kg/M2es
()BT Hyeereerermnunnriennnuisiennas .5 BAREMAE302.9kg/hr
OERAEEEEEL  (rpm)ee--el #EE hn A &60.5kg/hr
(WK (M2/5) erreereerearannns .000025 [E g4y hn A 8757 .4kg/hr
(5)Uo (M) crerecrcerennnasannn, 0025 ERIRZR15 %, BT F525.185M2
(ORI BB TR T E ceererneananne. .75 E 22588 #52,900mmD X 3,000mmL 1
(DB R IREE IS ceeerrererennaannenes 4 RAKHEECME X8.8M %
(OB TR I ZR vevsenvrnmerarenniannes .08
(B ASERK FTHEES 3BITMEX6ME

BEEFRIT(Y/N)
# N =3 B BRT—E (BFE—8)

ZE35 H # 5 810,000(CMD) ok B £13,000(CMD)
T AKBOD300(mg/4) A SS250(mg/£)
Bt &kBOD40(mg/¢) 7K SS40(mg/ £)

| oK Rk R
RAEH Y E20,000(CMD) #i7k 3 1 iAME X FiAE IS5

AME X SMBE B KR .5

KB E15(M)

icH
FEL003L 7 K F AR BT k8. 1%
WMz &KE.9
x4 HE1.02

ZHEREHEL20 (B
1,00017 07 K T AR BT S TTAD B . 02
VLB 2 &7k 25.9899999

Uiz HEL.105

@l

[ERBRFREIL.7 ()

PR AR E200(M/M?-d)
SSEKz.35
HET5IRZ 7k 289799999
HETGRZ HEL.05
VSSEEIRE .7

RATEARE 3 ZE » Heh 1 EH A

FFES50FP X 10,000CMD X 15(M)
% i

M Ex4250(kg/day)

HUERETE2.45(M?/day)

#32.5CMD

HRA 2 3.3ME X3.4ME X .SME
WK SS218.5(mg/4)

5V E45(kg/day)
HIREE4(CMD)

It i) ,
A 4 1BRIOM X B 6M X A HAKE 3
S EEAKZHE » BEEEL (M)
5YEET87.2(kg/day)
HUBEBHE37(CMD)
HKSS142(mg/0)
HKBOD238(mg/ 1)
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EtiE R 25

T E TR EO
BOD{HJRE T .3

BODZERE & .7

g R#ER1kg BODFTEE A .45
MLSS% H AT FiEasm.2
R IER.1

{ERRrE2.5Chrs)
FLEE8I(M?)

IR A 28150(CMD/M)
KHEATZ328.2(M*/M*+day)

UL 5 (SS)787.2(kg/day)
FEULEYE(SS)1,046(kg/day)
#ULi 5 UE (BOD)1,082(kg/day)
M5 E&2,915(ke/ day)
5UREETR2,915(kg/day)
HEBODRy BB E R 7

12N ETEAZE.05(1/day)

B IS 5 R

5 e

LRI 522180 (4. 1987)

8] _—TE (Y/N)?

I8k 7. 5(hrs)

WA 40

i E2AM X 1AM X f5 4k Ak 223 M

BODZ:[x2:83%

BIREA5.13 1

=5 22,835(kg~0/day)

=& 295,551(M?/day)

PRAME 4 7k

FIIM X E7M X 547K ZE3M
SRE > BEREL. TMX50cmE

SSERZET2Y

B b

{2 REfE12Chrs)

BEEBHEREKER.9

FE%&E%%(M") ) TR 2

FREERS. S(M)HIEAERS.3M

KRITEREHLI6(M®/M?d)

[ 5 74685 9 (kg/M?2+ d)

BEREEIRERES101( CMD)

&kE .97 - BREEEE35(CMD)
HE1.02

=S woouE B E—E(Y/N)?
BUEEEES1kg/M?es BFEIRINAZ302.9kg/hr

HEEhn A 860.5kg/hr
(RN EE15% B E25 . 185M*
MK E2M £ X 8.8M %

ISR 3 H17TME X 6M T

E 884 in A &757 .4kg/hr
B 2233 EH52,900mmD X 3,000mmL 1 7

=

Nz
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TERBHRER 5228 (4. 1987)

Fpy {(’7 - ﬂ [_— AT E Y ) [ i ""*é
FhK L U I@_— g l 5
= ;
!
#
& IR
NnnAon0nnANnNnAnaL |
|
T
|
i
A
CORRNGAGARCADDENDNGD i
H r_l . o
i
+ ] fi

M & —

100 B AREEEDERAREETEHE LEEE

105" BAKERKEERE R

110 DIM 00(90), PP(90), SP(40), T(40), H(40), M(40), RA(40)
115’ I=1

120 GOSUB 800 BlES 1
150° HARFHF KRR

160 I=2

170 GOSUB 1500 Bl 2
250 5t

260 1=3

270 GOSUB 4000

300° UL MR &

310 I=4

330 GOSUB 5000

350° REPVT BT

360 I=5
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TERBHREGE 5223 (4. 198D

390 GOSUB 6000

400 OPEN “0O7”, £1, “DATA1”
405 M(2)=1

410 PRINT #1, QA, QM, SB1(1), SB2(1), SS1(1), SS2(1), B1

420 PRINT #1, E(2), R(2), H3(2), L(2), W(2), M(2)

430 PRINT %1, QD1, QD2, HP, AN, B2(3), W(3), E(3), VO(3), SP(3), Q(3)

440 PRINT #£1, T(4), M(4), L(4), W(4), H(4), B4), SS1(4), E(4), VO2(4),
SP(4), VO3(4), VO1(4), Q4)

450 PRINT %1, T(5), M(5), L(5), W(5), H(5), LO(5), LW(5), DL(5), VO2
(5), E(5), VO3(5), SP(5), SS2(5), RA2(5), SB2(5), SBI1(5),
SS1(5), VO1(5), Q(5)

455 FOR I=2 TO 5: PRINT 1, CHECK (I): NEXT I

460 CLOSE #1

470 RUN “REPORTB”

480 END

800 seskskeoksrsskstokokskstokskokskksokskokskok sk ok skskskoksosk sk sk sksk sk

801 #kx FE—BITT I=1 sk BIFEERI1-1  soex

802 stskestotestosiofsiofipotetsiotoloksksolskskok dok ok Rk sk ok skok ok

805 CLS: KEY OFF: LOCATE 1,30: COLOR 0,7: PRINT “?ﬁﬂ%z{:‘ﬁﬂ”:’

COLOR 7,0
806 QA =10000; : SB1(1)=250: SS1(1)=220: SB2(1)=60: SS2(1)=60: Bl=
1.3: QM=QAxB1
810 LOCATE 2,1

820 PRINT “<1>ZE#HHERE CMD =7
830 PRINT “<2>fF# (RAHEREHTHHE) - - -7
840 PRINT “<3>#iiK BOD (mg/¢) - - -7
850 PRINT “<4>3fiKk SS(mg/e) -~ -7
860 PRINT “<5>#kifk BOD(mg/#4) -- =
7870 PRINT “<6> ik SS(mg/4) --

880 PRINT “<7>#ASER”
885 GOTO 150
890 GOSUB 32000

930 E1S="ws+ 35TLE (T —Frxkok”
— 9] —




TERTGHEGR 552280 (4. 1987)

940 FOR X=0 TO 250: C$=INKEYS: IF C$=% THEN NEXT ELSE GOTO
985

950 LOCATE 22, 20: PRINT SPACES(18);

960 FOR X=0 TO 50: C$=INKEYS: IF C$=" THEN NEXT ELSE GOTO
985 ' ‘ ‘

970 LOCATE 22, 15: PRINT E1$

980 GOTO 940 -

985 C=INSTR (*1234567”, C$): IF C=0 THEN 940

986 ON C GOTO 990, 1010, 1030, 1050, 1070, 1090, 1110

990 J(1)=1: O0(1)=5: PP(1)=150000, _

995 E28= “DISL AR /K (CMD) BEfr ”:E3§=""

1000 GOSUB 33000: GOTO 940

1010 J(1)=2: OO(1)=1 :PP(1)=1.5

1015 E28="&st 8T H e

1016 E3$="21.2~1.4{%"

1020 GOSUB 33000: GOTO 940

1030 J(1)=3: 00(1)=10: PP(1)=10000

1035 E28="{57k5180mg/ L) -7 : E3§ ="

1040 GOSUB 33000: GOTO 940

1050 J(1)=4: O0(1)=10: PP(1)=10000

1055 E2§="{5k%5200mg/ 4L} I »:E3$="""

1060 GOSUB 33000: GOTO 940

1070 J(1)=5: O0(1)=1: PP(1)=200

1075 E28="W ik iE¥E< =40mg/f*: E3$=""

1080 GOSUB 33000: GOTO 940

1090 J(1)=6: O0(1): PP(1)=200

1095 E28="j{ ik iE#<=40mg/[” : E35=""

1100 GOSUB 33000:GO TO 940

1110 PRINT CHRS(27); “L0, 285, 399, 381, 0, BF;” ;

1120 LOCATE 22,15

1130 PRINT “ERHABESER(Y/N)”;

1135 BEEP: FOR KK=1 TO 300: NEXT: BEEP

1140 INPUT © ”, PAS

1150 IF PA$="Y” OR}PA$="%y” THEN 1180

1160 PRINT CHRS$(27); “L0, 285, 390, 381, 0, BF;” ;

1170 GOTO 890

1180 IF (QA=0 OR B1=0 OR SB1(I)=0 OR SS1(I)=0 OR SB2(I)=0 OR
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1190
1200
1210
1220
1230
1500
1510
1520
1530

1531
1535
1540
1550
1555
1560
1570
1580
1585
1590
1600
1610

1620
1630

1640
1650
1660
1670
1680
1690
1700
1710

TERBREIE 552200 (4. 1987)
$S2(I)=0) THEN 1200
RETURN
LOCATE 22, 15
PRINT “fpRégASER (GEE—E);
IF INKEY$=" ” THEN 1220
GOTO 890
skl kol sk sk sk kskok ok skl
dokok BETEESE I=2 sk BRSNS 2-1 ks
sk koo sk ks kok
CLS: LOCATE 1, 24: COLOR 0, 7: PRINT “hhizK3: 5 KERST":
COLOR 7,0
GOTO 40000
B2(2)=2: R(2)=3: E(2)=.6: H3(2)=20
LOCATE 2, 1: CHECK(2)=1

PRINT “<1>fZ# (B mEHTHAE) ---"
PRINT “<2>HKH#HEE M - ==
PRINT “<3>#ii5KEME ---
PRINT “<4>HA#HE M ---7
PRINT “<5>#ASEK”

‘GOTO 1750

GOSUB 32000

E1S="#sx+ E5HEL—IE sooker”

FOR X=0 TO 250: C$=INKEYS$: IF C$=* ” THEN NEXT ELSE
GOTO 1660

LOCATE 22, 20: PRINT SPACES (18);

FOR X=0 TO 50: C3=INKEYS: IF C$=* ” THEN NEXT ELSE
GOTO 1660

LOCATE 22, 15: PRINT E1S

GOTO 1610

C=INSTR (*12345”, C$): IF C=0 THEN 1610

ON C GOTO 1680, 1710, 1716, 1750, 1780

J(D=1: O0(I)=1: PP(I) =3.5

E28="#1.3~3.0{&”: E35=""

GOSUB 33000: GOTO 1610

J(DH=2: O0(I)=1.5: PP(I)=4.5

1712 E2$={(§’92~4M”: E3$=" "

1714

GOSUB 33000: GOTO 1610
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1716
1720
1730
1750
1760
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930
1940
2000
2005
2010
2020
2030
2040
2050
2060
2070
2080
2090

J(DH=38: 00(1)=.3:PP(I)=.9

E2$= SRR BB A B ESS = 2 A . 30~ . 857
GOSUB 33000: GOTO 1610

GOSUB 2000 BlER2-2

GOTO 1610

PRINT CHRS(27); “L0, 285, 399, 381, 0, BF;” ;
LOCATE 22, 15

PRINT “Hk 8ABERK(Y/N)”;

BEEP: FOR KK=1 TO 300: NEXT: BEEP
INPUT « ” PAS

IF PAS="Y” OR PAS = “y” THEN 1860
PRINT CHRS(27); “L0, 285, 390, 381, 0, BF;” ;
GOTO 1590 . o

IF B2(ID=0 OR R(I)=0 OR E(I)=0 OR H3(I)=0 THEN 1880
GOTO 1920

LOCATE 22, 15

PRINT “{BREGASEE (ME—&)”

IF INKEYS$= “ * THEN 1900

GOTO 1590

GOSUB 3000 Bl X2-3
GOSUB 3400 2B 2-4
RETURN

rckrkx BIFESL 220 sorx RIKIERE  swtorrn

PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;” ;
LOCATE 8, 1

PRINT <1 >i##gmiEug Aigm”

PRINT “<2>DlstmpRigg”

INPUT « ”, CS

IF C§ <> “1” AND C$<> “2” THEN 2010
IF C$=“2” THEN 2150

J(I)=4: O0(I)=5: PP(I)=40
E2S="HE— B 10MEL: E35=" »

GOSUB 33000

2100 PRINT CHRS(27); “L0, 90, 160, 140, 0, BF;” ;
2110 RETURN 1760
2150 LOCATE?, 1

2170

PRINT “<1>E#%E (BBEHHMZAL) --=7
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2180 PRINT “<2>W% 7k 1 814 (i -
2190 PRINT “<3> [CliE2: 5 ig -7
2200 PRINT “<l4>3f -l 4= i --
2210 PRINT “<5>i455 4 (R -- -
2220 PRINT “<6>RiiRsmig -- =7
2230 PRINT “<7>Hkmig4e@ny - -7
2240 PRINT “<8> i (A0 -- -7
2250 PRINT “<9>WKOiEE m/s -= =7
2260 PRINT “<A>BASER (#A)”

2270 GOSUB 32000

2280 E18 =" BT —IE  wwux”

TEGRBIE 5220 .

1987)

2290 C1=4: FOR X=0 TO 250: C2$=INKEYS: IF C28=* ” THEN NEXT

ELSE GOTO 2340
2295 PRINT CHRS(27); “L1, 85, 395, 379, B;” ;
2300 LOCATE 22, 20: PRINT SPACES$(18);

2310 FOR X=0 TO 50: C28=INKEYS: IF C2$=“ ” THEN NEXT ELSE

GOTO 2340
2320 LOCATE 22, 15: PRINT E1$
2330 GOTO 2290
2340 IF C28="A” OR C2§="a” THEN 2740
2350 C2=INSTR (“123456789”, C28): IF C2=0 THEN 2290

2370 ON C2 GOTO 2380, 2410, 2440, 2470, 2500, 2530, 2560, 2590, 2620

2380 J(ID=1: OO(I)=5: PP(I)=40

2390 E2S="FtBIBeARMETAK A7 E3S="2 K73 » G1OME "
2400 GOSUB 33000: GOTO 2290

2410 J(ID=2: OO0(I)=.03: PP(D)=1

2420 E25="[E¥E0.06 A T": E3S="{F A ME MK HI#£ 0.5~1.0”
2430 GOSUB 33000: GOTO 2290

2440 J(ID=3: O0O(I)=1: PP(I)=2.5

2450 E28="F=1.5~2.0": E3%=""

2460 GOSUB 33000: GOTO 2290

2470 J(I)=4: OO(I)=.5: PP(I)=1.5

2480 E25="F=0.6—1.2": E35=" 7

2490 GOSUB 33000: GOTO 2290

2500 J(I)=5:00(I)=.15: PP(I)=.25

2510 E25="00BEF = .25{R&E 227" E3S="45gF=.175—fap> F”
2520 GOSUB 33000: GOTO 2290
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2530 J(D=6: OO(I)=.6: PP(I)=350

2540 E28="ZA&EXMNE.89 F=0.6": E35=" [Of.81 F=1.13"

2550 GOSUB 33000: GOTO 2290

2560 J(I)=7: 00(I)=.2: PP(I)=1.2

2570 EoS="FAEEEEWAF=1": E35=< »

2580 GOSUB 33000: GOTO 2290

2590 J(I)=8: OO(I)=.02: PP(I)=.05

2600 E28="F=0.0241/(2000+4D)”: E3S="jtL5 5r&s "

2610 GOSUB 33000: GOTO 2290

2620 J(D=9: O0I)=1.1: PP(I)=3.4

2630 E28="W% /K O 391 .5~3.0"

2640 E3§=" »

2650 GOSUB 33000: GOTO 2290

2740 PRINT CHRS(27); “L0, 285, 399, 381, 0, BF;”

2745 C1=0

2750 LOCATE 22, 15: PRINT “ZHHs A BER(Y/N)”;

2755 BEEP: FOR KK=1 TO 300: NEXT: BEEP

2760 INPUT © ”, PAS

2765 IF PA$="Y” OR PAS$=%“y” THEN 2800

2770 PRINT CHRS(27); “L0, 285, 390, 381, 0, BF;” ;

2775 GOTO 2290

2800 IF H1(I)=0 OR F1(I)=0 OR F2(I)=0 OR F3(I)=0 OR F4(I)=0

OR F5(I)=0 OR F6(1)=0 OR F7(I)=0 OR VE=0 THEN 2830

2810 GOTO 2900

2830 LOCATE 22, 15

2840 PRINT “{hREgARE (HT—i)";

2850 IF INKEYS$=" ” THEN 2850

2860 GOTO 2270

2900 H2(D=CINT(F1(I)+F2(I) +F3(1)+F4(I) + F5(1) -+ F6(1)+F7(I))*VE+
VE/19.6

2910 H3(I)=H1(I)+H2(D)

2915 H3(I)=INT(H3([)*10)/10

2920 LOCATE 17, 25

2930 PRINT “Hik#BE”; H3); “M”

2935 LOCATE 4, 40

2940 PRINT H3(ID)

2945 PRINT CHRS(27); “L1, 85, 395,379, 0, BF;" :
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2950
3000
3010
3020
3030
3040
3050
3055
3056
3057
3058
3060
3070
3080
3090
3100
3110
3120
3130
3140
3150
3160
3170
3180
3190
3195
3196
3198

3199
3200
3210
3220
3230
3240
3250
3260

TR E S22 (4. 1987)
RETURN
sk BRI 2-3 wwx GEEEREH ks
B=.03 RiHREMH Y R ERRRACBIEA TS 02 By
QD1=QAx*(1+B)
QD2=QAxB2(I)
HP=INT(10*QD2*H3(I)/(6480*E(I)))/10
QD3=QD2/86400!
V(I)=INT(QD2*15/(4>:<1440)+ .5)
W(I):CINT((V(I)/R(I)) ANE)!
L(DH)=W(D
PRINT CHRS(27); “L440, 0, 639, 260, 0, BF;” ;

LOCATE 2, 65: COLOR 0, 7: PRINT “%&5E”: COLOR 7, 0
IF QD3 >.15 THEN 3100

AN=2

GOTO 3195

IF QD3 >.35 THEN 3130

AN=3

GOTO 3195

IF QD3 >.7 THEN 3160

AN=4

GOTO 3195

IF QD3 >1.5 THEN 3190

AN=5

GOTO 3195

AN=6

LOCATE 3, 51: PRINT “#i7c3 1 "

LOCATE 4, 51: PRINT

LOCATE 5, 51: PRINT “E”; L(D); “MX%E”; W(D; “MxAE”; R(D)

LOCATE 6, 51: PRINT

LOCATE 7, 51: PRINT “/BAERFHEES”; QD2; “CMD”
LOCATE 8, 51: PRINT

LOCATE 9, 51: PRINT “BiABHKE”; HP; “HP”
LOCATE 10, 51: PRINT

LOCATE 11, 51: PRINT “H5KE"; AN; “&”7
LOCATE 12, 51: PRINT “Hrr—&{5mHE”
HP=INT((HP/(AN—1))/10)*10+10
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3270
3280

3290
3400
3410

3420
3430
3440
3450
3460

3465
3470
3480
4000
4010
4020
4030
4031
4035
4040
4050
4060
4070
4080
4085
4090
4100
4110

4120
4130

4140
4150

LOCATE 13, 51: PRINT

LOCATE 14, 51: PRINT “&+&”; HP; “HPX”; INT(QD2/(AN—1));
“CMDX”; H3(I); “M”

RETURN

sk BIEREE 24 wkx BEREITIRET ek

LOCATE 16, 51: COLOR 0, 7: PRINT “BZ&HEHHFT(Y/N)”;: COLOR
7, 0

INPUT = 7, C4%

BEEP: FOR KK=1 TO 500: NEXT: BEEP

IF C4$=Y” OR C4$="y” THEN 3460

RETURN

B(I)=0: B2(I)=0: R(D=0: E(I)=0: H3(I)=0: AN=0: H1(1)=0:
QD3=0: HP=0: C1=0

LOCATE 16, 51: PRINT *©

F2=0: F3=0: F4=0: F5=0: F6=0: F7=0: F8=0

GOTO 1590 FE_Er (FRR)

ssksioksrote kR ko sk sk ksl sk sk ks ol Rk ookt ok

sk BT BEE I=3 s BIER 3-1  sxx

seskskokskoagok sk sk sk ok ok ks sk ks Rk ks sakofoRsorsoR ko ok

CLS: LOCATE 1, 24: COLOR 0, 7: PRINT “f@/5Mgkst”: COLOR 7, 0
GOTO 40000

B2(3)=.1: E(3)=.9: SP(3)=1.02

LOCATE 2, 1: CHECK(3)=1

PRINT “<1>410032J5K T KFT 58 & &% -7
PRINT “<2>#ikx¥2 &KE - - -
PRINT “<3>HikipZLE - -
PRINT C<A>EATR”

> GOTO 4380

GOSUB 32000

El1S="%xsx EEBRBE—IF soepx”

FOR X=0 TO 250: C$=INKEYS: IF C§=“ " THEN NEXT ELSE
GOTO 4160

LOCATE 22, 20: PRINT SPACES$(18);

FOR X=0 TO 50: C$S=INKEYS$: IF C$=* ” THEN NEXT ELSE
GOTO 4160

LOCATE 22, 15: PRINT EI1$

GOTO 4110
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4160 C=INSTR (*1234”, CS): IF C=0 THEN 4110
4170 ON C GOTO 4180, 4210, 4240, 4300

4180 J(ID=1: OO()=.05: PP(I)=.150001

4190 E28="$50.05—0.15": E3%=" "~

4200 GOSUB 33000: GOTO 4110

4210 J(DD=2: 00()=.7: PP(I)=.95

4220 E28="$50.9/74": E38§=“ "

4230 GOSUB 33000: GOTO 4110

4240 J(ID=3: O0(D)=1!: PP(I)=1.05

4250 E285="y91.02/%": E3%$=" "

4260 GOSUB 33000: GOTO 4110

4300 PRINT CHRS(27); “Lo, 285, 399, 381, 0, BF;”
4310 LOCATE 22, 15

4320 PRINT “EBRAE R (Y/N)”;

4330 BEEP: FOR KK=1 TO 300: NEXT: BEEP
4340 INPUT *« », PAS

4350 IF PAS="Y” OR PAS$=%y” THEN 4363

4360 PRINT CHRS$(27); “L0, 285, 390, 381, 0, BF;”
4361 GOTO 4090

4363 IF B2(I)=0 OR E(I)=0 OR SP(I)=0 THEN 4369
366 GOTO 4410

4369 LOCATE 22, 15

4372 PRINT “{hREATEE (FE—E)”

4375 IF INKEYS$=" ” THEN 4375

4378 GOTO 4110

4380 GOSUB 4410 AR 3-2 FHEMER
4390 GOSUB 4600 AIERX 3-3 BREFR

4400 RETURN
4410 srxsoerrk FIFEF 3-2  seworcisor ST HL B B QG FI HY serstskskskokorotsrsiion

4420 W(I)=QA=*SS1(1)+B2(I)*.001 kg/day
4430 VO(I)=W(I)*.001/(B2(D)*SP(I)) M?
4440 VO(D=INT(VO(D)*100+.5)/100 CMD

4450 Q(I)=INT(VO(I)*10+.5)/10

4455 PRINT CHRS(27); “L440, 0 639, 260, 0, BF;” :

4460 LOCATE 2, 65: COLOR 0, 7: PRINT “%:f#2”:: COLOR 7, 0.
4470 LOCATE 3, 55: PRINT “#fig4”; W(); “kg/day”

4480 LOCATE 5, 55: PRINT “5yRE:”; VO(I); “M?*/day”
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4450 LOCATE 7, 61: PRINT “%”; Q(D); “CMD”

4600 7 smwokioioir BITESR 3-8 sepsckorsksor TR BRI orrmionkssritggg

4610 LOCATE 12, 55: COLOR 0, 7: PRINT “BEEIR (Y/N)”;: COLOR
7, 0

4620 INPUT = ”, C4S

4630 BEEP: FOR KK=1 TO 500: NEXT: BEEP

4640 IF C4$=*Y” OR C4$="y” THEN 4680

4650 PRINT CHRS$(27); “Lo, 285, 390, 381, 0, BF;” ;

4670 GOTO 4400

4680 "B2(I)=0: E(I)=0: SP(I)=0: W(I)=0: VO(D=0: Q(I)=0

4685 LOCATE 12, 55: PRINT © »

4690 GOTO 4090

5000 ° ****************************************

5010 ° s HEPUETE T—d4  sess BIEESR 4-1 sl

5020 ° ****************************************

5030 CLS: LOCATE 1, 30: COLOR 0, 7: PRINT “ULihEEEr”: COLOR 7, 0

5031 GOTO 40000

5035 H(4)=2: T(4)=60: B(4)=.1: E(4)=.9899999. SP(4)=1.105: M(4)=6:

RA(4)=3

5040 LOCATE 2, 1: CHECK(4)=1

5050 PRINT “<I>H#HKE (M) - -7 H(D
5060 PRINT “<2>{=apsps (8) - == T
5070 PRINT “<8>H1,00037 5 K F A BB S - - -7 'B(D
5080 PRINT “<4>Viphz &7z - -7 E(D
5090 PRINT “<5>{Wpp> H&E - -7 SP(I)
5100 PRINT “<6>#r - -7 MDD
5101 PRINT “<7>E% - -7 RA(D

5102 PRINT “<8>#4A 525"

5105 'GOTO 5495

5110 GOSUB 32000

0120 E18="sxux FREBE I wwws”

5130 FOR X=0 TO 250: C$=INKEYS: IF C§=* » THEN NEXT ELSE
GOTO 5180

5140 LOCATE 22, 20: PRINT SPACES(18);

5150 FOR X=0 TO 50: CS=INKEYS: IF C§=¢ » THEN NEXT ELSE
GOTO 5180

5160 LOCATE 22, 15: PRINT EIS
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5170 GOTO 5130

5180 C=INSTR(*12345678”, C$): IF C=0 THEN 5130
5190 ON C GOTO 5200, 5230, 5260, 5290, 5320, 5335, 5340, 5350
5200 J(D=1: OO(I)=1!: PP(I)=2.5

5210 E2S="F& A EZ HHKIE": E3S="(Fr»#50.3ML )"
5220 GOSUB 33000: GOTO 5130

5230 J(I)=2: 00(I)=30: PP(1)=60

5240 E25="1{30~60F)S¥”: E35=" "

5250 GOSUB 33000: GOTO 5130

5260 J(I)=3: 00(I)=.005 :PP(I)=.05

5270 E28="350.005~0.05M*": E3$=" »

5280 GOSUB 33000: GOTO 5130

5290 J(I)=4: 00(I)=.9: PP(I)=.9950001

5300 E2S="30.99 Z5”: E3$=" ~

5310 GOSUB 33000: GOTO 5130

5320 J(I)=5: 00(I)=1.05: PP(I)=1.15

5330 E28="%1.105474": E3$=" "

5331 GOSUB 33000: GOTO 5130

5335 J(I)=6: 00(D)=2: PP(I)=10

5336 E2S=""yhll 7: E3$=" "

5337 GOSUB 33000: GOTO 5130

5340 J(D)=7: 00(I)=3: PP(I)=5

5341 E2S="#53~5/74": E3$=" "~

5342 GOSUB 33000: GOTO 5130

5350 PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;” ;
5360 LOCATE 22, 15

5370 PRINT “&ptig ABTZER(Y/N)7;

5380 BEEP: FOR KK=1 TO 300: NEXT: BEEP
5390 INPUT © 7, PAS

5400 IF PA$=“Y” OR PAS$=%y” THEN 5440

5410 PRINT CHRS$(27); “L0, 285, 390, 381, 0, BF;” ;
5420 GOTO 5110

THRGUEE 22 (4.

1987)

5440 IF H()=0 OR T(I)=0 OR E(I)=0 OR SP(I)=0 OR B(I)=0 THEN

5460
5450 GOTO 5500
5460 LOCATE 22, 15

5470 PRINT “{pRigASER (RE—E)7;
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5480
5485
5490
5495
5496
5497
5500
5510
5520
5530
5540
5600
5610
5615
5620
5630
5640
6545
5650
5660
5665
5670
5680
5690
5700
5710
5720
5725
5730
5740
5750

5760
5770
5780
5790
5800

IF INKEYS=" ” THEN 5480
PRINT CHRS(27); “L0, 285, 390, 381, 0, BF;” ;
GOTO 5110

’GOSUB 5500 I 4-2 BRI EH

am Eﬂu[

H\\*ﬁ R%

—
=T\
’GOSUB 5800 BIER 4-3 EFENe

RETURN

eticokkok Bl A2 P2 4-2  serskstkdon FTEHEEIEH  sookssmkrmksdkgson
WJ()I(I)——CQAJ»?T(I)/(86400!*hd(l)) Eh M
f&(I)==IDTT(\N31(I)*100/I{(I)%‘.5)/100

W(D=INT((A)/RAI))*.5+10-.9)/10
L(D=INT(AI)/W(I)%10)/10

VE(I)=QM/(86400!+W (I)+H(D+M(I))

IF VE(I) <.5 THEN 5660

PRINT CHRS(27); “L0, 285, 390, 381, 0, BF;”

LOCATE 22, 4: PRINT “Fgyg”; VE(D: "m/sjﬁ— s G L ERE”
LOCATE 23, 4: PRINT “SEHhALEH (E—)”

IF INKEYS=* ” THEN 5640

PRINT CHRS(27); “L0, 285, 390, 381,0,BF;”

GOTO 5110

Q(I)=QD1-Q(3) 'CMD

IF E(3)=0 THEN SS1(I)=QAxSS1(1)/Q(I): GOTO 5680
SS1(D=QA*SS1(1)+E(3)/Q(I) Mg/
SS1(I)=INT(SS1(I)+10+.5)/10

VO2(D=QI)+SS1(I)*B(D)*.001 kg/day
VO2(I)=INT(VO2(I)*10+.5)/10
VO3(D)=V02(1)#.001/((1—E(L))*SP(I))

VO3(1)=CINT(VO3(I))

PRINT CHRS(27); “L400, 0, 639, 260, 0, BF;”

LOCATE 1, 65: COLOR 0, 7: PRINT “3&zt %z@ COLOR 7, 0
LOCATE 2, 50: PRINT “/”; M(D); “#” »
LOCATE 3, 50: PRINT “£”; L(D); “MX " W(I); “Mx4kE": HD:
ap

LOCATE 5, 50: PRINT “¥£3ik SS="; SSI(I); “mg/¢”
LOCATE 6, 50: PRINT “/5iRE="; VO2(I); “kg/day”

LOCATE 7, 50: PRINT THIREE R = : VO3(D); “CMD”
RETURN
P slokaokeoren EIF230 4-3 sk mg%?ﬁi%ﬁukn Aestesksfeskkoksk sk skt skokok sk
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5810 LOCATE 9, 55: COLOR 0, 7: PRINT “BHEHZF(Y/N)”;: COLOR
7,0

5815 INPUT « 7, C4$

5820 BEEP: FOR KK=1 TO 500: NEXT: BEEP

5830 IF C4$="Y” OR C4$="y” THEN 5860

5840 PRINT CHRS(27); “L0, 285, 390, 381, 0, BF;” ;

5850 GOTO 5497

5860 'H(I)=0: T(I)=0: E(I)=0: SP(I)=0: B(I)=0

5865 LOCATE 8, 55: PRINT * 7~

5870 GOTO 5110

6000 Tesksksstsksiorsokkskokrsokokskekdsokot ksl kR ok

6010 Twxx  EEFEETL I==5 sxx FJE 5-1 sxx

6020 Tskkoskkskskoksksoksiokodsksk koo tsk kR sk detskofok

6030 CLS: LOCATE 1, 30: COLOR 0, 7: PRINT “f¥g{iihzRE+”: COLOR 7, 0

6031 GOTO 40000

6035 T(5)=2: H(5)=4: RA1(5)=3: M(5)=8: LO(5)=250: DL(5)=.4:
E(5)=.985: SP(5)=1.017: RA2(5)=.7

6040 LOCATE 2, 1: CHECK(5)=1

6050 PRINT “<1>{=mgpsfs] (/i) - T(D
6060 PRINT “<2>HZFKE (M) - -7 H(D
6070 PRINT “<3>EEH -—7 RAI(D)
6080 PRINT “<4>ihit - = MDD
6090 PRINT “<5>&IEEHZEM®/m.d - "LOD)
6100 PRINT “<6>SSkjza I DL
6110 PRINT “<7>475RZ&KE - -7 ED
6120 PRINT “<8>4:FRZHE - -7 'SP(I)
6130 PRINT “<9>VSS{5/5J8 & - - RA2(D)

6140 PRINT “<A>#ASER (BRA)”

6145 'GOTO 6670

6150 GOSUB 32000

6160 E1S="xxx IZ5RE(L—IH sowxx”

6170 FOR X=0 TO 250: C$=INKEYS: IF C$=" ” THEN NEXT ELSE
GOTO 6220

6180 LOCATE 22, 20: PRINT SPACES$(18);

6190 FOR X=0 TO 50: C$=INKEYS: IF C$=* ” THEN NEXT ELSE
GOTO 6220

6200 LOCATE 22, 15: PRINT E1S$
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6210 GOTO 6170

6220 IF C$=“A” OR C$=%a” THEN 6530

6230 C=INSTR(*123456789”, CS): IF C=0 THEN 6170
6240 ON C GOTO 6250, 6280, 6310, 6340, 6370, 6400, 6430, 6460, 6490
6250 J(D=1: O0(I)=1.5: PP(D)=3

6260 E28="{i¥:3hr bl I : {@IEEE": E3$="2hr : E{:5JREL.5hr”
6270 GOSUB 33000: GOTO 6150

6280 J(D=2: O0(I)=2.5: PP(I)=4

6290 E28="fEiZ¥ER2.5~4M”: E3§=" "

6300 GOSUB 33000: GOTO 6150

6310 J(I)=3: O0(I)=3: PP(I)=5

6320 E2S ="l EH#EE3~5": E35=""

6330 GOSUB 33000: GOTO 6150

6340 J(D=4: O0(I)=2: PP(D)=10

6350 E28="fRA MLl E#E”: E3§=" "~

6360 GOSUB 33000: GOTO 6150

6370 J(I=5: O0(1)=190: PP(1)=250

6380 E28="kZMEEH E250”7: E3S="/ L%&190"
6390 GOSUB 33000: GOTO 6150

6400 J(D=6: OO(I)=.25: PP(I)=.4

6410 E25="%50.25~0.4”: E3$=" »

6420 GOSUB 33000: GOTO 6150

6430 J(D=7: O0(I)=.94: PP(I)=.9999999

6440 E28="750.94~0.99”: E3%=" 7

6450 GOSUB 33000: GOTO 6150

6460 J(ID=8: O0I)=1.02: PP(I)=1.070001

6470 E28="391.02~1.07”: E35=% "

6480 GOSUB 33000: GOTO 6150

6490 J(D=9: O0(I)=.5: PP(I)=.8

6500 E25="1E3ft/5E ;s 2 ER": E3S="TZEK0.7LIF”
6510 GOSUB 33000: GOTO 6150

6530 PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;” ;
6540 LOCATE 22, 15

6550 PRINT “EglggAEER (Y/N)”;

6560 BEEP: FOR KK=1 TO 300: NEXT: BEEP

6570 INPUT * 7, PAS

6580 IF PAS="Y” OR PAS$="y” THEN 6610
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6590 PRINT CHRS(27); “L0, 285, 390, 381, 0, BF;” ;

6600 GOTO 6150

6610 IF T(I)=0 OR H(D)=0 OR LOI)=0 OR RAI1(I)=0 OR M(I)=0
THEN 6630

6615 IF DL(I)=0 OR E(I)=0 OR SP(I)=0 OR RA2(I)=0 THEN 6630

6620 GOTO 6700

6630 LOCATE 22, 15

6640 PRINT “fRk #gATHE (FE—E)7;

6650 IF INKEYS$=" ” THEN 6650

6660 GOTO 6150

6670 ’GOSUB 6700 Bl 5-2 HEEELEHE

6680 *GOSUB 7000 Bl 5-3 BAEIR

6690 RETURN

6700 7 ekkrrkrr BIEESL 5-2  wellloiokr FFEHIEERIETH stk

6710 VO1(I)=(Q(4)—VO3(4))*T(I)/24

6715 Q(I)=Q(4)—V03(4)

6720 A1(D=CINT(VO1(D)/(MD=*H(D))

6730 W(I)=CINT((A1(I)/RAII))"*

6740 L(I=CINT(A1(D)/WD))

6750 LO1(D=(Q4)—V03(4))/(M(D*A1(D))

6760 IF LO1(I)<=50 AND LO1(I) >=25 THEN 6800

6770 LOCATE 22, 1: PRINT “S=mE&#”; LO1(D); “CMD/m?®:
PRI NT “HEHEME25~50T4 » EFHHT GHE—8);

6780 IF INKEYS$=" ” THEN 6780

6785 PRINT CHRS$(27); “L0, 280, 639, 381, 0, BF;” ;

6790 GOTO 6150

6800 LW(D=(Q(4)—V03(4))/(M(D*LO(D))

6810 LW(I)=CINT(10«+LW(I)/(2%5))/10 S EEKTHERE

6820 VO2(D=INT(((Q(4)—V03(4))*SS1(4)*DL(I)*.001)*10+ .5)/10

6830 VO3(I)=CINT(VO2(1)*.001/((1—E))*SP(D))

6840 SB1(I)=CINT(SB1(1)*QA/((Q(4)—VO03(4))—VO3(D)))

6850 SS2(I)=CINT(SS1(4)*(1—DL(I)))

6860 SB2(1)=CINT(SB1(1)—RA2(D)*(SS1(4)—S5S2(1)))

6865 PRINT CHRS(27); “L400, 0, 639, 260, 0, BF;” ;

6870 LOCATE 2, 61: COLOR 0, 7: PRINT “2kzt&®:”: COLOR 7, 0

6880 LOCATE 4, 50: PRINT “4hms”; A1(D); “m?”

?

6890 LOCATE 5, 50: PRINT “E”; L(J); “MXE”;, W); “MXKE”; HQD;

b
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N[

6900 LOCATE 7, 50: PRINT “5 {H&4K7H » #EEE”; LWA); “M”

6910 LOCATE 9, 50: PRINT “/FiRE”; VO2(I); “kg/day”

6920 LOCATE 10, 50: PRINT “/HjREzE"; VO3(D); “CMD”

6930 LOCATE 12, 50: PRINT “Hi7kSS”; SS2(1); “mg/4”

6940 LOCATE 13, 50: PRINT “H7kBOD”; SB2(I); “mg/4”

6950 "'RETURN 6680

7000 7 wwrrwrkk BIFEFR 5-3  skwwwkrr BB EITEREF  selolkkksiolliokiok

7010 LOCATE 15, 55: COLOR 0, 7: PRINT “BHFEFHL(Y/N)”;: COLOR
7, 0

7015 INPUT * », C4$

7020 BEEP: FOR KK=1 TO 500: NEXT: BEEP

7030 IF C4$="Y” OR C4$="y” THEN 7060

7040 PRINT CHR$(27); “L0, 285, 390, 381, 0, BF;” ;

7050 GOTO 6690

7060 "T(D=0: H{I)=0: LO(I)=0: RAI(I)=0: M(I)=0:
DL(I)=0: E(I)=0: SP(1)=0: RA2(I)=0

7065 LOCATE 10, 55: PRINT « ”

7070 GOTO 6150

30000 srkktopkokkoos JIEREG A BREDIEFE  wokokkkddookion

30010 IF PP1=0 THEN 30120

30020 IF (PP1>=00(I) AND PP1<=PP(I)) THEN 30180

30030 BEEP

30040 LOCATE 21, 27

30050 PRINT “HaghfmifZ¥estfc4”

30055 LOCATE 22, 30

30056 PRINT “gp & Ahkae”

30060 LOCATE 23, 27

30070 PRINT “BHEFHiIHFA(Y/N)”;

30080 INPUT * ”, PAS

30090 PRINT CHRS$(27); “Lo, 310, 399, 381, 0, BF;” ;

30100 IF PA$=“N” OR PAS$="n” THEN 30180

30110 GOTO 33000

30120 LOCATE 23, 32

30130 PRINT “EREERR » EHFHA”;

30140 PLAY “MFMLO3CC”

30150 PLAY “MFMLO2CC”
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30155 PRINT * .

30170 GOTO 33000

30180 PRINT CHRS(27); “Lo, 300, 399, 381, 0, BF;” ;

30190 RETURN

32000 °  msmmmkmkktr FORHIARITEERRER  skktrksikiriokkkok
32010 LOCATE 19, 64

32020 COLOR 0, 7

32030 PRINT “#g A 94 EERA”

32040 COLOR 7, 0

32050 LOCATE 21, 51

32060 PRINT “<A>#AR# A ERHFTH (G IR

32070 LOCATE 22, 51

32080 PRINT “<B>#AER"

32090 LOCATE 23, 51

32100 PRINT “<C>FEHEFFLEHR"

32110 LOCATE 24, 51

32120 PRINT “HEZMAMHIRIE";

32130 LOCATE 1, 1

32140 PRINT CHRS$(27); “L400, 268, 639, 381, B;” ;

32150 LOCATE 1, 1

32160 RETURN ’

33000 7 ekwkeswkx  BIFEIN  kwkkxkk B EG A BRIEERE  skkksik
33010 PRINT CHRS$(27); “Lo0, 285, 399, 381, 0, BF;” ;

33015 LOCATE 20, 1: PRINT E2%

33016 LOCATE 21. 1: PRINT E35

33017 K=0

33020 LOCATE 23, 1

33030 PRINT “#gA<”;

33040 FOR K=1 TO 9

33050 IF J(ID<>K THEN NEXT

33060 COLOR 0, 7: PRINT K;: COLOR 7, 0

33070 PRINT“>H&EHR";

33080 ON I GOTO 33090, 33300, 33800, 34000, 34200, 34600, 35800, 36200
33090 ON K GOTO 33100, 33120, 33140, 33160, 33180, 33200
33100 INPUT “ 7, QAS: PP1=VAL(QAS$): GOSUB 30000
33105 LOCATE 2, 40: PRINT *« ”

33110 QA=PP1: LOCATE 2, 40: PRINT QA: GOTO 33220
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33120 INPUT * ”, B1S: PPI1=VAL(B1S$): GOSUB 30000

33125 LOCATE 3, 40: PRINT * »

33126 QM=QAx*PP1

33130 B1=PPl1: LOCATE 3, 40: PRINT B1: GOTO 33220

33140 INPUT « 7, SB1$(D): PP1=VAL(SBIS(I)): GOSUB 30000
33145 LOCATE 4, 40: PRINT © ?

33150 SB1(I)=PP1: LOCATE 4, 40: PRINT SB1(I): GOTO 33220
33160 INPUT *« ~, SS1$(D): PP1=VAL(SSI$(I)): GOSUB 30000
33165 LOCATE 5, 40: PRINT * ?

33170 SS1(I)=PP1: LOCATE 9, 40: PRINT SS1(I): GOTO 33220
33180 INPUT = 7, SB25(I): PP1=VAL (SB2$(I)): GOSUB 3000
33185 LOCATE 6, 40: PRINT © ?

33190 SB2(I)=PP1: LOCATE 6, 40: PRINT SB2(I): GOTO 33220
33200 INPUT * >, SS28(1): PP1I=VAL (SS28(I)): GOSUB 30000
33205 LOCATE 7, 40: PRINT ¢ ?

33210 SS2(I)=PP1: LOCATE 7, 40: PRINT SS2(I): GOTO 33220
33220 PRINT CHRS(27); “LO, 285, 399, 381, 0, BF;”

33225 GOSUB 32000

33230 RETURN

33240 °  sewmokrskerkxsx  [=1 ook

33300 IF C1=3 THEN 33410

33310 ON K GOTO 33320, 33342, 33350, 33380

33320 INPUT « », B2$(D): PPI=VAL(B23(I)): GOSUB 30000
33330 LOCATE 2, 40;: PRINT © ?

33340 B2(I)=PP1: LOCATE 2, 40: PRINT B2(I): GOTO 33740
33342 INPUT « », R$(D): PP1=VAL(RS(I)): GOSUB 30000
33344 LOCATE 3, 40: PRINT ¢ ?

33346 R(ID)=PP1: LOCATE 3, 40: PRINT R(ID: GOTO 33740
33350 INPUT « », ES(D): PP1=VAL(ES(I)): GOSUB 30000
33360 LOCATE 4, 40: PRINT © ?

33370 E(I)=PP1i: LOCATE 4, 40: PRINT E(I): GOTO 33740
33380 INPUT « ~», H3$(D): PP1=VALCH3$(I)): GOSUB 30000
33390 LOCATE 5, 40: PRINT © ”

33400 H3(I)=PP1: LOCATE 5, 40: PRINT H3(I): GOTO 33740
33410 ON K GOTO 33420, 33450, 33480, 33510, 33540, 33570, 33600, 33630, 33680
33420 INPUT * », H1$(D): PPI=VALC1S(I)): GOSUB 30000
33430 LOCATE 7, 40: PRINT « 7
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33440
33450
33460
33470
33480
33490
33500
33510
33520
33530
33540
33550
33560
33570
33580
33590
33600
33610
33620
33630
33640
33650
33680
33690
33700
33740
33750
33760
33770
33800
33810
33820
33830

33840
33850

33860
33870

TERIGHEGE #5221 M.

H1(I)=PP1: LOCATE 7, 40: PRINT H1(I): GOTO 33740
INPUT © », F1$(I): PP1=VAL(F13(1)): GOSUB 30000
LOCATE 8, 30: PRINT * 7

F1(ID)=PP1: LOCATE 8, 30: PRINT F1(I): GOTO 33740
INPUT ¢ 7, F23(I): PP1=VAL(F23(I)): GOSUB 30000
LOCATE 9, 30: PRINT © ”

F2(1)=PP1: LOCATE 9, 30: PRINT F2(I): GOTO 33740
INPUT * », F33(1): PP1=VAL (F3«(I)): GOSUB 30000
LOCATE 10, 30: PRINT *© ”

F3(I)=PP1: LOCATE 10, 30: PRINT F3(I): GOTO 33740
INPUT © », F43(1): PP1=VAL(F43(I)): GOSUB 30000
LOCATE 11, 30: PRINT © ”

F4(I)=PP1: LOCATE 11, 30: PRINT F4(I): GOTO 33740
INPUT * », F58(1): PP1=VAL(F58(1)): GOSUB 30000
LOCATE 12, 30: PRINT * ?

F5(1)=PP1: LOCATE 12, 30: PRINT F5(I): GOTO 33740
INPUT ¢, F63(I): PP1=VAL(F65(I)): GOSUB 30000
LOCATE 13, 30: PRINT *© ”

F6(I)=PP1: LOCATE 13, 30: PRINT F6(I): GOTO 33740
INPUT © », F78(I): PP1=VAL(F78(1)): GOSUB 30000
LOCATE 14, 30: PRINT * ?

F7(I1)=PP1: LOCATE 14, 30: PRINT F7(I): GOTO 33740
INPUT *© ”, VES$: PP1=VAL(VES): GOSUB 30000
LOCATE 15, 30: PRINT © ?

VE=PP1: LOCATE 15, 30: PRINT VE: GOTO 33740
PRINT CHRS(27); “L0, 285, 399, 381, 0, BF;” ;

C1=0: GOSUB 32000

RETURN

P kol [==2 0 smsikokskskekskokk

ON K GOTO 33810, 33840, 33870

INPUT « 7, B2§(I): PP1= VAL(B25(I)): GOSUB 30000
LOCATE 2, 40: PRINT * ?

B2(I)=PP1: LOCATE 2, 40: PRINT B2(I): GOTO 33900
INPUT * 7, ES(I): PP1=VAL(ES$(I)): GOSUB 30000
LOCATE 3, 40: PRINT * ?

E(I)=PP1: LOCATE 3, 40: PRINT E(I): GOTO 33900
INPUT « 7”2, SPS(1): PP1=VAL(SPS$(I)): GOSUB 30000
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33880 LOCATE 4, 40: PRINT * ?

33890 SP(I)=PP1: LOCATE 4, 40: PRINT SP(I)

33900 PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;” .

33910 GOSUB 32000 |

33920 RETURN

33930 7 mkekskokskaoksk [==3  sekskskskekoksoksk

34000 ON K GOTO 34010, 34040, 34070, 34100, 34130, 34152, 34156
34010 INPUT *« ”, H$(I): PP1=VAL(HS()): GOSUB 30000
34020 LOCATE 2, 40: PRINT * ”

34030 H(I)=PPl: LOCATE 2, 40: PRINT H(I): GOTO 34160
34040 INPUT “ 7, T$(I): PP1=VAL(TS$(D)): GOSUB 30000
34050 LOCATE 3, 40: PRINT © ?

34060 T(ID=PP1: LOCATE 3, 40: PRINT T(I): GOTO 34160
34070 INPUT « ”, B$(I): PP1=VAL(BS(I)): GOSUB 30000
34080 LOCATE 4, 40: PRINT © ?

34090 B(I)=PP1: LOCATE 4, 40: PRINT B(I): GOTO 34160
34100 INPUT « ”, ES(I): PP1=VAL(ES$(I)): GOSUB 30000
34110 LOCATE 5, 40: PRINT *© ?

34120 E(ID=PP1: LOCATE 5, 40: PRINT E(I): GOTO 34160
34130 INPUT * 7, SP$(I): PP1=VAL(SPS$(I)): GOSUB 30000
34140 LOCATE 6, 40: PRINT *© ?

34150 SP(I)=PP1: LOCATE 6, 40: PRINT SP(I): GOTO 34160
34152 INPUT * », M$(I): PP1=VAL(MS(I)): GOSUB 30000
34153 LOCATE 7, 40: PRINT * ?

34154 M(I)=PP1: LOCATE 7, 40: PRINT M(I): GOTO 34160
34156 INPUT * ”, RA$(I): PPI=VAL(RAS(I)): GOSUB 30000
34157 LOCATE 8, 40: PRINT © ?

34158 RA(ID=PP1: LOCATE 8, 40: PRINT RA(D)

34160 PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;” ;

34170 GOSUB 32000

34180 RETURN

34190 7 sesekksokkokx [m=d4 sekseskeksokkork

34200 ON K GOTO 34210, 34240, 34270, 34300, 34330, 34360, 34390, 34420, 34450
34210 INPUT « », T$(I): PP1=VAL(TS()): GOSUB 30000
34220 LOCATE 2, 40: PRINT © 7

34230 T(I)=PP1: LOCATE 2, 40: PRINT T(I): GOTO 34480
34240 INPUT * 7, H$(I) PP1=VALCHS(I)): GOSUB 30000

— 110 —




34250
34260
34270
34280
34290
34300
34310
34320
34330
34340
34350
34360
34370
34380
34390
34400
34410
34420
34430
34440
34450
34460
34470
34480
34490
34500
34510
40000
40010
40020
40030
40040
40050

40051

40052

THBRE 221 4. 1987)

LOCATE 3, 40: PRINT © "

H(I)=PP1: LOCATE 3, 40: PRINT H(I): GOTO 34160XXX
INPUT *“ ”, RA1S(I): PP1=VAL(RA1S(I)): GOSUB 30000
LOCATE 4, 40: PRINT * 7

RA1(I)=PP1: LOCATE 4, 40: PRINT RAI(D): GOTO 34480
INPUT « », MS$S(I): PP1=VALMS(I)): GOSUB 30000
LOCATE 5, 40: PRINT ”

M(I)=PP1: LOCATE 5, 40: PRINT M(I): GOTO 34480
INPUT 7, LOS(I): PP1=VAL(LOS(D)): GOSUB 30000
LOCATE 6, 40: PRINT © ?

LO(I)=PP1: LOCATE 6, 40: PRINT LO(I): GOTO 34480
INPUT © 7, DL$(I): PP1=VAL(DLS$(I)): GOSUB 30000
LOCATE 7, 40: PRINT « ”

DL(I)=PP1: LOCATE 7, 40: PRINT DL(I): GOTO 34480
INPUT © ~, ES(I): PP1=VAL(ES$(D)): GOSUB 30000
LOCATE 8§, 40: PRINT « 7

E(ID=PP1: LOCATE 8, 40: PRINT E(I): GOTO 34480
INPUT « », SP$(I): PP1=VAL(SPS(I)): GOSUB 30000
LOCATE 9, 40: PRINT © ?

SP(I)=PP1: LOCATE 9, 40: PRINT SP(I): GOTO 34480
INPUT “ 7, RA23(I): PP1=VAL(RA2$(I)): GOSUB 30000
LOCATE 10, 40: PRINT *© ?

RA2(I)=PP1: LOCATE 10, 40: PRINT RA2(I): GOTO 34480
PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;” ;

GOSUB 32000

RETURN

T sskkskokskokskkk [=5 skokekekstestokstokok

LOCATE 2, 2: PRINT “<1>gst4m”

LOCATE 3,2: PRINT “<2>2st”;: INPUT © *, CC$

IF CC$<> “1” AND CC$ <> *“2” THEN 40000

IF CC§=*1” THEN 40050

ON I GOTO 100, 1535, 4035, 5035, 6035, 8035, 12535, 14035
LOCATE 4, 2: BEEP: PRINT “Are you sure? (Y/N)”;: INPUT « 7,
CDS$

IF CD$<> “Y” AND CD$ <> “N” AND CD$ <> “y” AND CDS$
<> “n” THEN 40050 |
IF CD$=“N” OR CDS$=“n” THEN LOCATE 4, 2: PRINT”
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: GOTO 40000

40055 ON I GOTO 40060, 40070, 40090, 40110, 40130

40070 QD1=QAx=1.03: CHECK(2)=0

40080 GOT 01940

40090 Q(3)=0: CHECK(3)=0

40100 GOTO 4400

40110 Q(4)=QD1—Q(3): VO3(4)=0: CHECK(4)=0: IF E(3)=0 THEN
SS1(4)=CINT(QA=*SS1(1)/Q(4)) ELSE SS1(4)=CINT(QA=SS1(1)*
E(3)/Q(4)

40120 GOTO 5497

40130 Q(5)=Q(4)—VO03(4): VO3(5)=0: SS2(5)=SS1(4): VO02(5)=0:
CHECK(5)=0:SB1(5)=CINT(SB1(1)*QA/(Q(4)—VO3(HN:
SB2(5)=SB1(5) ‘ ’ -

40140 GOTO 6690

100 OPEN “I”, #1, “DATAY”
110 INPUT #1, QA, QM, SB1(1), SB2(1), SS1(1), SS2(1), Bl
120 INPUT #1, E(2), R(2), H3(2), L(2), W(2), M(2)
130 INPUT #1, QD1, QD2, HP, AN, B2(3), W(3), E(3), VO(3), SP(3), Q(3)
140 INPUT #1, T(4), M(4), L(4), W(4), H(4), B(4), SS1(4), E(4), VO2(4),
SP(4), VO3(4), VO1(4), Q(4)
150 INPUT #1, T(5), M(5), L(5), W(5), H(5), LO(5), LW(5), DL(5), VO2
(5), E(5), VO3(5), SP(5), SS2(5), RA2(5), SB2(5), SB1(5),
SS1(5), VO1(5), Q(5)
155 FOR I=2 TO 5: INPUT #1, CHECK(I): NEXT I
160 CLOSE #1 ‘
400 ° ARERE
410 I=6
420 GOSUB 8000
450 EBULEMLERET
460 I=7
470 GOSUB 12500
500 °  {HYRRRE
510 I=38
520 GOSUB 14000
550 7 RRAKERIE
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560 I=9

570 GOSUB 16000

580 ° HIHZEITAE

590 GOTO 18000

600 FEHIE

605 OPEN “0O”, #1, “DATA”

610 FOR I=1 TO 9

615 PRINT #1, L({DD), WD), M(D), D(I), D1(D), D2(D)

620 NEXT I

625 PRINT #1, LW(5), LW1(7), L(9), W(Q), L10, W10, M1(6), M2(6), C2.

626 FOR I=2 TO 9: PRINT #1, CHECK(I): NEXT I

630 CLOSE #1

635 RUN “REPORTC”

650 END

8000 7 ssskokskskokokoioiokkokkokokok skokskskskskotskokskskok sk skskskeskeskosk stk

8010 ° wwx FENETS I=6 sk FIRESR 6-1 sk

8020 7 sdkkskskkskkkskstokdkkkodotkakokioksiokskskokkok gk kol

8030 CLS: LOCATE 1, 30: COLOR 0, 7: PRINT “ZiREEF5"” : COLOR 7,0

8031 GOTO 40000 ‘

8035 ’C2=3: GOTO 8190: ’C2=2: GOTO 8180: 'C2=1 GOTO 8170

8040 LOCATE 2, 1: CHECK(6)=1

8050 PRINT “<1>@EM:ERE - - =7

8060 PRINT “<2> @4 E M - = =7

8070 PRINT “<3>iE¥EjEEE - ==

8080 GOSUB 32000

8090 E1$="wksx EEME(F—TH seprn”

8100 FOR X=0 TO 250: C$=INKEYS$: IF C$=* " THEN NEXT ELSE
GOTO 8150

8110 LOCATE 22, 20: PRINT SPACES$(18);

8120 FOR X=0 TO 50: C$=INKEYS: IF C$=" ” THEN NEXT ELSE
GOTO 8150

8130 LOCATE 22, 15: PRINT E1S$

8140 GOTO 8100

8150 C=INSTR(*123”, C$): IF C=0 THEN 8100

8160 ON C GOTO 8200, 10000, 11200

8170 ’C2=1: GOSUB 8200 EIFEsE 6-1 FEERIGUR

8175 *GOTO 8195 "
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8180 ’C2=2: GOSUB 10000 BIRES 6-2 fREmAe B
8185 ’GOTO 8195
8190 *C2=3: GOSUB 11200 Bl 6-3 EREEEE

8195 RETURN ;

8200 7 wwkkwmikwkkrk BRI 6-1-A  sxx  JEMEIBIREE  sekkkeklokkk

8205 C2=1

8210 PRINT CHRS$(27); “L0, 15, 320, 120, 0, BF;” ;

8215 RAIL(6)=.25: RISS(6)=10000: LO1(6)=.32: LO2(6)=.8: H(6)=3:
RA2(6)=1.6: DOB(6)=.5: DOS(6)=.1: AB(6)=.1: M(6)=4

8220 LOCATE 2, 1

8230 COLOR 0, 7: PRINT “}E”;: COLOR 7, 0

8235 PRINT “<1>#j5detk ---” "RAL(D

8240 COLOR 0, 7: PRINT “f#”;: COLOR 7, 0

8245 PRINT “<2>WEHBEREE ---" 'RISS(D

8250 COLOR 0, 7: PRINT “j5”;: COLOR 7, 0

8255 PRINT “<3>BOD HilREHR ---" 'LOL(D)
8260 COLOR 0, 7: PRINT “Jg”;: COLOR 7, 0
8265 PRINT “<4>BOD #HE&M# ---" 'LO2(D)

8270 COLOR 0, 7: PRINT “#”;: COLOR 7, 0
8275 PRINT “<5>F#FKEZE---" "H()

8280 LOCATE 7, 6: PRINT “<6>#Hihik === "M(I)
8285 LOCATE 8, 6: PRINT “<7>EEHFE ---" 'RA2(D

8290 LOCATE 9, 6: PRINT “<8>¥A5ERK

8295 'GOTO 8710

8300 GOSUB 32000

8310 E1S="wxsks EEIEIIL—IF ok’

8320 FOR X=0 TO 250: C$=INKEYS: IF C$=* ?» THEN NEXT ELSE
GOTO 8370

8330 LOCATE 22, 20: PRINT SPACES(18);

8340 FOR X=0 TO 50: C$=INKEYS: IF C$=* ” THEN NEXT ELSE
GOTO 8370

8350 LOCATE 22, 15: PRINT E1$

8360 GOTO 8320

8370 C=INSTR (“12345678”, C$): IF C=0 THEN 8320

8380 ON C GOTO 8390, 8420, 8450, 8480, 8510, 8540, 8562, 8570

8390 J(I)=1: OO(I)=.2: PP(I)=1.5

8400 E28="fZ#X,0.2—0.3, [&H:5%0.2—0.3": E3$="12IER0.05—0.1, 4 &L
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8410
8420
8430
8440
8450
8460
8470
8480
8490
8500
8510
8520
8530
8540
8550
8560
8562
8563
8564
8570
8580
8590
8600
8610
8620
8630
8640
8650

8655
8660
8670
8680
8690
8700
8710

TR 55221 (4

0.5~1.5"

GOSUB 33000: GOTO 8300

J(DH=2: 00(1)=9000: PP(I)=11000
E2S=" R FwE » ¥910,000mg/4”: E3§=" "
GOSUB 33000: GOTO 8300

J(D=3: O0O(M)=.2: PP(D)=.4
E2S="{&{5 K EIRIFRE": E38="/50.2—0.4"
GOSUB 33000: GOTO 8300

J(D=4: O0()=.5: PP(D)=1
E2S="—i3£0.5—1”: E3§=«"

GOSUB 33000: GOTO 8300

J(I)=5: O0(I)=3: PP(D)=5
E2S="REE#.E3—5": E3§="

GOSUB 33000: GOTO 8300

J(D)=6: 00(1)=2: PP(I)=10
E2S="RA "l E#HE”: E3§=""

GOSUB 33000: GOTO 8300

J(OH=7: O0(I)=3: PP(I)=5

E28="3—5": E3§=% "

GOSUB 33000: GOTO 8300

PRINT CHRS$(27); “Lo, 285, 399, 381, 0, BF;” ;
LOCATE 22, 15

PRINT “EHEABTER(Y/N)”;

BEEP: FOR KK=1 TO 300: NEXT: BEEP
INPUT « ”, PAS

IF PAS="Y” OR PAS="y” THEN 8650
PRINT CHRS$(27); “L0, 285, 390, 381, 0, BF;” ;
GOTO 8300

IF RA1(I)=0 OR RA2(I)=0 OR RISS(I)=0 OR LO1(I)=0 OR
LO2(I)=0 OR H({)=0 OR M(I)=0 THEN 8670
PRINT CHRS$(27); *“L0, 135, 390, 381, 0, BF;” ;
GOTO 8800

LOCATE 22, 15

PRINT “{IREGASEE (FHE—E)";

IF INKEYS=" " THEN 8690

GOTO 8300

'GOSUB 8800 BIEX 6-1-B FHAMELATH
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8720 *GOSUB 9150 Bl 6-2-C =g Bt
8730 "GOSUB 9650 BIER 6-3-D BEEF B
8740 RETURN :
8800 stk FJEEFR 6-1-B  seskssmonsn FTE SR WEITH skttt
8810 QI(I)=Q(5)—V03(5)
8820 Q2(D=INT(Q1(D=*(1+RAI(D))
8825 Q(DH=Q1(D)
8830 SSl(I):CINT((QI(I)*SSZ(S)+QICI)*RAI(I)*RISS(I))/QZ(I))
8840 SBI(I)=INT(Q1(I)*SB2(5)*.001)
8850 DL(I)=INT((SB2(5)——SBZ(I))/SB2(5)>:=100)/100
8860 IF DL(I) >=.8 THEN 8910
8870 LOCATE 22, 5: PRINT “BOD fpzs”; DL(D) ; “R&EAE”
8880 LOCATE 23, 5: PRINT “EFBAER(Y/N)”;: INPUT © ”, C$
8890 IF C$=“N” OR C$ C$=“n” THEN 8910
8897 PRINT CHRS$(27); “L0, 300, 420, 381, 0, BF;” ;
8900 GOTO 8300
8910 PRINT CHRS$(27); “L0, 300, 420, 381, 0, BF;” ;
8915 T(I)=24*(SB2(5)—SBZ(l))/(SSl(I)*LOl(I))
8920 T(ID=CINT(T(I)*10)/10 "hrs
8930 IF RAI1(I)>.2 THEN 8950 '
8940 IF T(I)>=1.5 AND T(I)<=2.5 THEN 9030
8942 LOCATE 22, 5: PRINT “ERFREE”; RALD;
“BRREBEESL 5—2.5 hrs”
8944 LOCATE 23, 5: PRINT “§E&&EE”; T(D); “hrs, BFBWMAER(Y/N)”;
INPUT * ” CS$
8946 IF C$="Y” OR C$="y” THEN PRINT CHRS$(27); “Lo0, 300, 420, 381,
0, BF;” ;: GOTO 8300 .
8947 PRINT CHRS(27); “L0, 300, 420, 381, 0, BF;”;
8948 GOTO 9030 ‘
8950 IF RA1(I)>.35 THEN 8980
8960 IF T(I)>=4 AND T(I)<=8 THEN 9030
8962 LOCATE 22, 5: PRINT “J@WBRILE”: RAI(D;
“BRRARHES 4—8 hrs” ; ‘
8964 LOCATE 23, 5: PRINT “st&iEEE”. TD); “hrs, EFHA TR (Y/N)”;

INPUT “ 7, C$ ,
8966 IF C$="Y” OR CS="y” THEN PRINT CHRS$(27); “L0, 300, 420, 381,
0, BF;” ;: GOTO 8300
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8967 PRINT CHRS$(27); “L0, 300, 420, 381, O, BF;”;

8968 GOTO 9030

8980 IF T(I)>=2 OR T{I)<=3 THEN 9030

8990 LOCATE 22, 5: PRINT “MitiHRE"; RALD; “RFANEER 2~3 hrs”

9000 LOCATE 23, 5: PRINT “HEHRE"; T(D); “hrs, EFHHABERCY/N)”;:

INPUT *« 7, CS ‘

9010 IF C$S=%Y” OR C$=%y” THEN PRINT CHRS$(27); “LO 300, 420, 381,
0, BF;”;: GOTO 8300

9020 PRINT CHRS$(27); “L0, 300, 420, 381, 0, BF;”;

9030 VO(I)=INT(Q2(1)*T(I)/24)

9040 A(D=INT(VO(I)/(MI)*H()))

9050 W(I)=CINT((AI)/RA2(1))0.5)

9060 L(I)=CINT(A)/W)

9070 T1(I)=CINT((LO2(D)*VO(I))*1000/(LO1(I)* Q2(1)*SS2(5))*100)/100

9075 PRINT CHRS(27); “L410, 0, 639, 260, 0, BF;”;

9080 LOCATE 1, 65: COLOR 0, 7: PRINT “&§tfH#£": COLOR 7, 0

9090 LOCATE 2, 52: PRINT “igfg”; M); “#fih”: LOCATE 3, 52:
PRINT “£”; L(D); “MXE”; WID); “MXKZHE”; H(I; “M”

9095 LOCATE 4, 52: PRINT

9100 LOCATE 4, 52: PRINT “{&gsR"; TA); “hrs”

9110 LOCATE 5, 52: PRINT “BODZ%[4z”; CINT(DL(I)*100); “%”

9120 LOCATE 6, 52: PRINT “/Hi#”; T1(DD; “H”

9130 'RETURN

9150 Tkwrkkknk  BIFETR 6-1-C  sxwwixxk  FIEEEE srptokoloos

9160 LOCATE 11, 20: PRINT “RESEE”

9170 PRINT “<1>#gR%kK lkg BOD FiEEE - - "'DOB(I)
9180 PRINT “<2>MLSSEREAFITEEE - "DOB(I)
9190 PRINT “<3>& R lrzs - AB(D)

9200 PRINT “<4>#gA5ERK

9210 GOSUB 32000

9220 PRINT CHRS$(27); “L0, 135, 399, 381, B;”;

9230 E1S="twsxs ZHE{T—TH ko’

9240 FOR X=0 TO 250: C$=INKEYS: IF C$=* ” THEN NEXT ELSE
GOTO 9290

9250 LOCATE 22, 20: PRINT SPACES$(18);

9260 FOR X=0 TO 50: CS=INKEYS$: IF C§=* ” THEN NEXT ELSE
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GOTO 9290
9270 LOCATE 22, 15: PRINT EIS
9280 GOTO 9240
9290 C=INSTR(*1234”, CS): IF C=0 THEN 9240
9300 Cl1=1
9310 ON C GOTO 9320, 9350, 9380, 9410
9320 J(ID=1: OO(I)=.349: PP(I)=.5
9330 E28="{50.35—0.5”: E3§=" »
9340 GOSUB 33000: GOTO 9220
9350 J(ID)=2: O0(I)=.05: PP(D)=.24
9360 E28="§50.05—0.24”: E3$=" »
9370 GOSUB 33000:GOTO 9220
9380 J(I)=3: OO(I)=.05: PP(I)=.150001
9390 E28="§50.05~0.15": E3§=" »
9400 GOSUB 33000: GOTO 9220
9410 PRINT CHRS$(27): “LO, 285, 399, 381, 0, BF;”:
9420 LOCATE 22, 15
9430 PRINT “EREAESER(Y/N)”;
9440 BEEP: FOR KK=1 TO 300: NEXT: BEEP
9450 INPUT © > PAS
9460 IF PAS=“Y” OR PA$=%y” THEN 9490
9470 PRINT CHRS$(27); “L0, 285, 390, 381, 0, BF;”;
9480 GOTO 9210
9490 IF DOB(I)=0 OR DOS(I)=0 OR AB(I)=0 THEN 9510
9500 GOTO 9550
9510 LOCATE 22, 15
9520 PRINT “{BREGA SR (B{L—)”;
9530 IF INKEYS$=" ” THEN 9530
9540 GOTO 9210
9550 DO(I)=INT(DOB(I)*(SBZC5)——SBZ(I))*Q2(I)*.OOl—{—DOS(D*SSl(I)a’:
VO(I)«.001)
9560 QA(I)leT(DO(I)/(.23*1.29*AB(I))+.5) '0.23 ¢ BRPEZEEERE
'1.29 : R
9570 LOCATE 8, 52: PRINT “EEHE”, DOM); “kg-0O/day”
9580 LOCATE 9, 52: PRI NT “Z£E”; QA(D; “M?/day”
9650 sorsksrststorsr B 6-1-D  sepsmrsons EBBEITERE  swrrrrikokbs g
9660 LOCATE 11, 55: PRINT “<1>EEBEHm”
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9670 LOCATE 12, 55: PRINT “<2>&ikHIRER#HT"

9680 LOCATE 13, 55: PRINT “<3>NEXT STEP#%it”

9690 PRINT CHRS$(27); “L430, 148, 639, 200, B;”;

9700 LOCATE 14, 55: INPUT Vs FEEE *x”, C3

9710 IF C$<>“1” AND C$< >“2” AND C$<>“3” THEN 9680

9720 IF C$<>*“1” THEN 9760

9730 'DOB(I)=0: DOS(I)=0: AB(I)=0

9740 PRINT CHRS(27); “L400, 140, 639, 220, 0, BF;”;

9750 GOTO 9210

9760 IF C$=%3" THEN GOTO 8740

9775 C1=0

9780 PRINT CHRS$(27); “L400, 140, 639, 220, 0, BF;”;

9785 PRINT CHRS$(27); “L0, 135, 639, 381, 0, BF;”;

9790 GOTO 8300

10000 ° ek EJFEF, 6-2-A ek RBC  wier

10005 C2=2

10010 PRINT CHRS(27); “L0, 15, 320, 120, 0, BF;”;

10020 D(6)=3.2: IN(6)=20: TH(6)=2: WA(6)=.4: HL(6)=100: BL(6)=
10: M(6)=40 ' :

10025 LOCATE 2, 1

10030 PRINT “3%/KBOD”; SB1(5);“ mg/¢”

10040 PRINT: PRINT “<1>g Antonie HEFIHE”

10050 PRINT “<2>migA Bk BODEMESE”;: INPUT © 7, CS

10060 IF C$ <>“1” AND C$ <>“2” THEN 10020

10070 IF C$=%1” THEN C3=1: GOTO 10090

10080 C3=2

10090 PRINT CHR$(27); “Lo, 15, 320, 120, 0, BF;”;

10100 LOCATE 2, 1

10110 COLOR 0, 7: PRINT “R”;: COLOR 7, 0: PRINT “<1>[EHREX

M - _”

10120 COLOR 0, 7: PRINT “B”;: COLOR 7, 0: PRINT “<2>[EHRHER
MM — n?’

10130 COLOR 0, 7: PRINT “C”;: COLOR 7, 0: PRINT C<BI>EREE
MM — e _7’

10140 COLOR 0, 7: PRINT “#”;: COLOR 7, 0: PRINT “<4>ZKZs

»

10150 IF C3=2 THEN 10190
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10160 PRINT “<5>KEEEEME 1/m2d -7

10170 GOTO 10200

10190 PRINT “<6>E®KBODEHR g/m2ed - - =7

10200 PRINT “<7> iy -- "

10210 PRINT “<8> i A 585"

10215 *GOTO 10700

10220 GOSUB 32000

10230 E1S="%%x E5ZEL—IH soxnx”

10240 FOR X=0 TO 250: C$=INKEYS: IF C$=% ” THEN NEXT ELSE
GOTO 10290

10250 LOCATE 22, 20: PRINT SPACES$(18);

10260 FOR X=0 TO 50: C$=INKEYS$: IF C$=* » THEN NEXT ELSE
GOTO 10290

10270 LOCATE 22, 15: PRINT E1$

10280 GOTO 10240

10290 C=INSTR(*1234567”, C$): IF C=0 THEN 10240

10300 ON C GOTO 10310, 10340, 10370, 10400, 10430, 10530, 10560

10310 J(I)=1: OO(I)=2.4: PP(I)=3.6

10320 E28="—%E 2.4 3.2”: E3§=" 3.6”

10330 GOSUB 33000: GOTO 10240

10340 J(I)=2: OO(I)=17: PP(I)=20

10350 E28="% g 17mm ”: E3$=“H#ES 20mm”

10360 GOSUB 33000: GOTO 10240

10370 J(I=3: OO(D)=1: PP(D)=2

10380 E28="£ 1—2mm”: E3$=“ZEHIS 17mm”

10390 GOSUB 33000: GOTO 10240

10400 J(I)=4: O0O(I)=.4: PP(I)=.7

10410 E25="%3.4—.7”: E3$=" »

10420 GOSUB 33000: GOTO 10240

10430 IF C3=2 THEN 10500

10440 J(I)=5: OO0(I)=100: PP(I)=250

10450 DL(I)=CINT(100+(SB2(5)—SB2(1))/SB2(5))

10460 E3$=STRS$(DL(I))

10470 E28="7A#&%(100—250)": E3$=“BOD sz +E3§4“9”

10480 GOSUB 33000: GOTOQO 10240

10500 J(I)=5: OO(I)=10: PP(I)=30

10510 E2§ =*{910—30”7: E3$=" ”
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10520 GOSUB 33000: GOTO 10240

10530 J(I)=6: O0O(I)=2: PP(I)=10

10540 E28=""]H4&#”: E3s=" "

10550 GOSUB 33000: GOTO 10240

10560 PRINT CHRS$(27); *“L0, 285, 399, 381, 0, BF;”;

10570 LOCATE 22, 15

10580 PRINT “ZhHgABRBR(Y/N)”;

10590 BEEP: FOR KK=1 TO 300: NEXT: BEEP

10600 INPUT “ ”, PAS

10610 IF PAS=“Y” OR PAS$="y” THEN 10635

10620 PRINT CHRS$(27); “L0, 285, 390, 381, 0, BF;”;

10630 GOTO 10220

10635 IF C3=2 THEN 10645

10640 IF D(I)=0 OR IN(I)=0 OR TH(I)=0 OR WA(I)=0 OR HL(I)=0
OR M(I)=0 THEN 10660

10641 GOTO 10800

10645 IF D(I)=0 OR IN(I)=0 OR TH(I)=0 OR WA(D)=0 OR BL(I)=0
OR M(I)=0 THEN 10660

10650 GOTO 10800

10660 LOCATE 22, 15

10670 PRINT “{pREgATZE (FEE—F)";

10680 IF INKEY$=" ” THEN 10680

10690 GOTO 10220 , :

10700 "GOSUB 10800 B RS R

10710 *GOSUB 11100 EEERRE
10720 RETURN AT

10800 ° ##% EIER 6-2-B sk SHEMEERBEIH ek
10810 IN=.1+D(I)

10820 Q(I=Q(5)—VO3(5)

10830 IF C3=2 THEN 10870

10840 BL(I)=SB2(5)*HL(I)#.001

10850 A(I)=INT(Q(I)*SB2(5)/BL(I)) ‘m?

10860 GOTO 10890

10870 A(D=INT(QI)*SB2(5)/BL(I)) ‘m?

10880 HL(I)=1000+xQ(I)/ACD) 'L/m?ed

10890 MA(D)=INT(4+A(I1)/(2+3.14159+D(D+D(D))) EHBL
10900 L(I)=CINT((((MAI)—1)+IN(D+MA(D*TH(I))*.001+2+IN)/M(I)) "M
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10910 VOI(I)=INT(((D(I)/2+IN)*)*3.1416+WA(D*L(I)) M
10920 VO2(D=INT(VO1(I)—3.14159+«TH(D+MA(D+WA(D*(D(I1)2)*.001/
(4+M(1)))

10930 T(I)=CINT((VO2(D)*24xM(I)/Q(I))*10)/10

10940 G=CINT(VO2(I)*1000+10+M(I)/A(I))/10

10945 DL(I)=CINT((SB2(5)—SB2(1))%100/SB2(5))

10950 SS1(I)=S82(5) 'RBC 031518

10955 PRINT CHRS$(27); “L400, 0, 639, 260, 0, BF;”;

10960 LOCATE 2, 65: COLOR 0, 7: PRINT “2%{45”: COLOR 7, 0

10970 LOCATE 3, 50: PRINT “#E2fS4:[EHES » 367 M(D);“#”: LOCATE 4,
50: PRINT “tZEERE”; MA(D); g~ .

10980 LOCATE 5, 50: PRINT “#Ek#E”; LI); “MxEA?; D); “M”

10990 LOCATE 6, 50: PRINT “[E#EEHERERRES”; IN; “M”

11000 LOCATE 7, 50: PRINT “G#f 28”; VO2(D); “M”

11010 LOCATE 8, 50: PRINT “Z&gpsRi”; T(I); “hrs”

11020 LOCATE 9, 50: PRINT “BOD%:zs”; DL(I); “%”

11030 LOCATE 10, 50: PRINT “WEEREHL(GE)”; G; "4/m?”

11040 'RETURN

11100 ° sk BIER 6-2-C  wxx BEFEFLE sk

11110 LOCATE 13, 50: COLOR 0, 7: PRINT “RAFEFL(Y/N)”;: COLOR
7, 0

11120 INPUT ¢ =, ES

11130 BEEP: FOR KK=1 TO 500: NEXT: BEEP

11140 IF E$=%Y” OR E$="y” THEN 11160

11150 GOTO 10720

11160 "D(D=0: IN(D=0: TH(I)=0: WA(I)=0: HL(I)=0: BL(D)=0: M(D=0

11165 LOCATE 13, 50: PRINT © »

11170 GOTO 10220

11200 7 s#x BIFEESN 6-3-A s JEEEVBIEYE otk

11205 C2=3

11210 PRINT CHRS$(27); “L0, 15, 399, 380, 0, BF;”;

11215 RA(6)=.5: D(6)=50: HL1(6)=15: BL1(6)=1.2: BL2(6)=1: M1(6)
=16: M2(6)=8

11220 LOCATE 2, 1

11230 COLOR 0, 7: PRINT “£”;: COLOR 7, 0: PRINT “<1> fE#l - -~

11240 COLOR 0, 7: PRINT “¥”;: COLOR 7, 0: PRINT “<2>jERERK mm

2
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11250 COLOR 0, 7: PRINT “j%”;: COLOR 7, 0: PRINT C<3>HK AT

(F—Bilib) m’/m*+d -7

11260 COLOR 0, 7: PRINT “#i”;: COLOR 7, 0: PRINT “<4>#—g>
BOD #7i kg/m?.day -=-=7

11270 COLOR 0, 7: PRINT “%”;: COLOR 7,0: PRINT “<5>EBZ
BOD &% kg/m?e.day -7

11280 PRINT * <6>ih#r (B5—B) -- -7

11290 PRINT © <7>ih#t (BB ---7

11300 PRINT “<8>#A5EE"

11305 > GOTO 11750

11310 GOSUB 32000

11320 E1$="wis SHEIEBE—IE swowoes”

11330 FOR X=0 TO 250: C$=INKEY$: IF C$=* ” THEN NEXT ELSE
GOTO 11380

11340 LOCATE 22, 20: PRINT SPACES(18);

11350 FOR X=0 TO 50: C$=INKEYS: IF C$=" 7 THEN NEXT ELSE
GOTO 11380

11360 LOCATE 22, 15: PRINT E1$

11370 GOTO 11330

11380 C=INSTR (*12345678”, C$): IF C=0 THEN 11330

11390 ON C GOTO 11400, 11430, 11460, 11490, 11520, 11550, 11580, 11610

11400 J(I)=1: OO(D)=.5: PP(I)=3!

11410 E28=""TFkBOD<150£0.5: f&#150L1R”: E3§="F] 750—900 AIE 4.5:
Ai3g .57

11420 GOSUB 33000: GOTO 11330

11430 J(I)=2: 00(1)=50: PP(I1)=60

11440 E28=%50~60mm”: E3$=""

11450 GOSUB 32000: GOTO 11330

11460 J(D)=3: 00(D)=10: PP(I)=30 ,

11470 F2s="3if7/Kk ZBOD=120 H|£$25": E3$="%BOD=150§(20: 3 BOD=200
Al15”

11480 GOSUB 33000: GOTO 11330

11490 J(D=4: 00(1)=.3: PP(D)=1.2

11500 E2S="% S/ R1.27: E38=""

11510 GOSUB 33000: GOTO 11330

11520 J(D=5: 00(D=.3: PP(1)=1.2

11530 E2S="ZAM<4>/)": E3$ =“(FZMER/NRL.2)7
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11540 GOSUB 33000: GOTO 11330

11550 J(I)=6: OO(I)=2: PP(I)=10

11560 E28=""jh A k”: E3§=" 7

11570 GOSUB 33000: 11330

11580 J(I)=7: 00D =2: PP(I)=10

11590 E28="_jhLI E”: E3$=" ~

11600 GOSUB 33000: GOTO 11330

11610 PRINT CHRS$(27); L0, 285, 399, 381, 0, BF;”;

11620 LOCATE 22, 15

11630 PRINT" EHlg A BSER(Y/N)”;

11640 BEEP: FOR KK=1 TO 300: NEXT: BEEP

11650 INPUT * ”, PAS ‘

11660 IF PAS="Y” OR PAS$=“y” THEN 11690

11670 PRINT CHRS$(27); “L0, 285, 390, 381, 0, BF;”;

11680 GOTO 11310

11690 IF RA(I)=0 OR D(I)=0 OR HLI1(I)=0 OR BL1(I)=0 OR BL2(I)=0
OR MI1(I)=0 OR M2(I)=0 THEN 11710

11700 GOTO 11800

11710 LOCATE 22, 15

11720 PRINT “{BREGASEE (E—E)7;

11730 IF INKEYS?:“ ” THEN 11730

11740 GOTO 11310

11750 "GOSUB 11800

11760 *GOSUB 12300

11770 RETURN

11800 ° s+ EIREF 6-3-B wxx FEHEEEIGEIH s

11810 Q(ID=Q()—V03(5)

11820 SB1(D)=INT((SB2(5)-+SB2(1)*RA(I))*Q(I)*.001) kg/d
11830 VO1(I)=INT(SB1(I)/BL1(I)) M?
11840 F=(1+RA(D))/((1+RA(I)/10)*)

11850 DLI1(I)=CINT(100/(1.444x((BL1(D)/F)0.5))) "9
11860 SB11(I)=INT(SB1(I)#(1—DL1(I)/100)) kg/d

11870 VO2(I)=INT(SB11(I)/BL2(I))
11880 AI(D)=INT((1-+RAI))*Q(I)/HLI(I))

11890 LOCATEI12, 5: PRINT “GEFAkBODA";SB11(1)%1000/Q(1);” mg/f)”
11900 LOCATE 13, 5: PRINT “(BOD=1208I&/&25: 150—>20: 200—>15)"
11910 LOCATE 11, 3: PRINT “SAEKER (BEIEMR) M¥/mi.day”;

11920 INPUT * », HL2$(D)
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11930 HL2(1)=VALCHL2S(I))

11935 PRINT CHRS(27); “L0, 145, 400, 381, 0, BF;”;

11940 IF HL2(I)>=10 AND HL2(I)<=30 THEN 11960

11950 BEEP: GOTO 11890

11960 A2(D)=INT((1+RA(D)*Q(D/HL2(1))

11970 DL2(1)=CINT(100/(1+ _444%((HL2(1)/F)0.5)/(1—DL1(1)/100))
11980 H1(I)=CINT(10+VO1(1)/A1(1))/10

11990 H2(I)=CINT(10+V02(1)/A2(1))/10

12000 D1(1)=CINT((AL1(I)*4/(3.14159+M1(1)))0.5)

12010 D2(I)=CINT((A2(1)*4/(3.14159+M2(1)))0.5)

12020 SS1(I)=SS2(5)

12025 PRINT CHRS$(27); “L360, 0, 639, 260, 0, BF;”;

12030 LOCATE 1, 60: COLOR 0, 7: PRINT “R&HER": COLOR 7, 0
12040 LOCATE 2, 45: PRINT “—Eihikts”; VOL(D); “M® jERER”; DAD);

@ »

mm

12050 LOCATE 3, 45: PRINT “—giht”; M1(D); “WEE"; D1(D); “ME”;
H1(D); “M”

12060 LOCATE 4, 45: PRINT “BOD #z”; DL1(D; “%”

12070 LOCATE 5, 45: PRINT “Z&iikta”; VO2(D; “M? BEER”; DA;

12080 LOCATE 6, 45: PRINT © Bkl M2(1); hER”; D2(1); “ME”;
H2(D); “M”

12090 LOCATE 7, 45: PRINT “BODZ%ZR”; DL2(I); “%”

12100 'RETURN 11760

12300 ° wkx  BIEER; 6-3-C  wxx BEERET e

12310 LOCATE 13, 50: COLOR 0, 7: PRINT “BEHEFHHTCY/N)”;: COLOR
7, 0 :

12320 INPUT “ 7, ES

12330 BEEP: FOR KK=1 TO 500: NEXT: BEEP

12340 IF E$="Y” OR E$="y” THEN 12360

12350 GOTO 11770 -

12360 'D(I1)=0: RA(I)=0: MI1(I)=0: M2(D)=0: HL1(I)=0: BL1(1)=0:
BL2(D)=0: HL2(I)=0 ‘

12365 LOCATE 13, 50: PRINT “ 7

12370 GOTO 11310

12500 44*********«kx*******x*********4*********%

12510 * e EIER T-1 wer BSULEBABRERES e
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12520 7 sespsteakstsksksorstokskok sksok sk ok sk s sk stk sk sk ok sk ok ok

12530 CLS: LOCATE 1, 25: COLOR 0, 7: PRINT “IRARUTIEBRMERET”: COLOR
7, 0

12531 GOTO 40000

12535 T(7)=2: H(7)=4: M(7)=8: RA1(7)=3: LO1(7)=150

12536 LOCATE 2, 1: CHECK(7)=1

12540 PRINT “<1> (&R hrs -
12550 PRINT “<2>&%KEE M - -7
12560 PRINT “<<3> i by - -7
12570 PRINT “<4>EEH - -7

!
1
1

12590 PRINT “<5>REifiiE£ M2 CMD/M

12600 PRINT “<6>#A5EH"

12605 *GOTO 13030

12610 GOSUB 32000

12620 EI1$=" sokis ZEEEEA—IF sorokn”

12630 FOR X=0 TO 250: CS=INKEYS$: IF C$=% ” THEN NEXT ELSE
GOTO 12680

12640 LOCATE 22, 20: PRINT SPACES$(18);

12650 FOR X=0 TO 50: C$=INKEYS$: IF C$=“ ” THEN NEXT ELSE
GOTO 12680

12660 LOCATE 22, 15: PRINT E1$

12670 GOTO 12630

12680 C=INSTR (*123456”, C$): IF C=0 THEN 12630

12690 ON C GOTO 12700, 12730, 12760, 12790, 12850, 12880

12700 J(ID=1: 00(I)=2!: PP(I)=3!

12710 E28="ER}iiZ#E 2.5 hrs”: E3§=" "

12720 GOSUB 33000: GOTO 12630

12730 J(I)=2: O0(I)=2.5: PP(I)=4!

12740 E2S="8H5S 2.5—4M”: E3$=" *

12750 GOSUB 33000: GOTO 12630

12760 J(I)=3: 00(I)=2: PP(I)=10

12770 E2$=""ihl > :E3§=" "

12780 GOSUB 33000: GOTO 12630

12790 J(I)=4: O0()=3: PP(I)=5

12800 E2$ “£3-5”: E3$=" 7

12810 GOSUB 33000: GOTO 12630

12850 J(I)=5: 00(I)=50: PP(I)=150
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12860 E28=“<=150" . E3§=" ~

12870 GOSUB 33000 GOTO 12630

12880 PRINT CHRS(27); “L0, 285, 399, 381, 0, BF:”;
12890 LOCATE 22,15

12900 PRINT “EfHgABEER(Y/N)”;

12910 BEEP: FOR KK=1 TO 300: NEXT: BEEP
12920 INPUT ©“ ”, PAS

12930 IF PAS=“Y” OR PAS$="y” THEN 12960
12940 PRINT CHRS(27); “LO, 285, 390, 381, 0, BF;”;
12950 GOTO 12610

1987)

12960 IF T(I)=0 OR H(I)=0 OR M(I)=0 OR RA1(I)=0 OR LO1(I)=0

THEN 12980
12970 GOTO 13200
12980 LOCATE 22, 15
12990 PRINT “[hREGATZE (BE—E)";
13000 IF INKEYS$=" " THEN 13000
13010 GOTO 12610
13030 *GOSUB 13200
13040 *GOSUB 13600
13050 RETURN
13200 7 weex EIRESK 7-2 e HEHESRBETH s
13210 Q(I)=Q(6)
13220 VO =INT(QD*TI)/(M(I)*24))
13230 A(D=INT(VO(I)/H(I))
13240 W(I)=CINT((AI)/RA1(I))0.5)
13250 L(I)=CINT(AI)/W(D))
13260 LO2(I)=CINT(10+Q(I)/(M(D*L(I)+W(I)))/10
13270 IF LO2(I)>=20 AND LO2(I)<=230 THEN 13330
13275 PRINT CHRS(27); “L0, 285, 390, 381, 0, BF;”;
13280 LOCATE 21, 10: PRINT “RE&MZE"; LO2(I); “MY/m?-day”

13290 LOCATE 22, 10: PRINT “HZZ%$E20—30RE » BEEFHACY/N);

13300 INPUT © ”, CS(D)
13310 IF CS(I)=“N” OR CS$(I)=%n” THEN 13330

13320 PRINT CHRS(27); “L0, 285, 390, 381, 0, BF;”;: GOTO 12610
13330 LW(D=Q(I)/(M(D+LO1(D))

13340 LW1(I)=CINT(10«LW(I)/(5%2))/10

13350 DL(I)=CINT((SS2(5)—S52(1))*100/SS2(5))
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13355 PRINT CHRS$(27); “L365, 0, 639, 260, 0, BF;”;

13360 LOCATE 1, 65: COLOR 0, 7: PRINT “gst#8”: COLOR 7, 0

13370 LOCATE 2, 46: PRINT “#£B”; M(D; “#b EHEE”; AD; “m?

13380 LOCATE 3, 46: PRINT “&”; L(D; “MXE”; W(I); "MXKE";
H@D,; “M”

13390 LOCATE 4, 46: PRINT “EHEEEWMELE”; LO2(D); “M*/m’.day”

13400 LOCATE 5, 46: PRINT “5&£K##E » #EEE”;, LWI1(ID); “MX50cmE”

13410 LOCATE 6, 46: PRINT “SS#pxzs”; DL(D; “%”

13420 'RETURN

13600 °  swx BIRERT7-3 wwx  BEEFTEEIF  wokx ,

13610 LOCATE 13, 50: COLOR 0, 7: PRINT “EHEHFZT(/N)”;: COLOR
7, 0

13620 INPUT * *, ES

13630 BEEP: FOR KK=1 TO 500: NEXT: BEEP

13640 IF E$="Y” OR E$="y” THEN 13660

13650 GOTO 13050

13660 *T(1)=0: H(I)=0: M{I)=0: RAI(I)=0: LO1(I)=0

13665 LOCATE 13, 50: PRINT * ?

13666 PRINT CHRS$(27); “L0, 285, 390, 381, 0, BF;”;

13670 GOTO 12610

14000 7 sekdetokskkskskokskookdorsksforskoksk ks sk sk kotoR

14010 * s BIRRR 8-1 e HUBEAEMEEET e

14020 7 serskorskopsicksoksoksioksop gk toker ko sk g srskskseksksor ok

14030 CLS: LOCATE 1, 24: COLOR 0, 7: PRINT “/HigiEfmba%at":
COLOR 7, 0

14031 GOTO 40000

14035 DL1(8)=.6: DL2(8)=.05: WAIL(8)=.9899999: SP(8)=1.02: T(8)=10:
H(@®)=4: WA2(8)=.96: M(8)=4

14040 LOCATE 2, 1: CHECK(8)=1

14050 PRINT “<1>EKBODRY/HIBE AL - -7

14060 PRINT “<2>BERHTHEE 1/day - ==

14070 PRINT “<3>&7KZ -7

14080 PRINT “<4>HE -=-=7

14090 PRINT “<5>{Z=K5HE hrs - = =7
14100 PRINT “<6>HBZUKE m - = =7
14110 PRINT “<7>1&% - -7

14120 PRINT “<8> 4 EREKE -
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14130
14135
14140
14150
14160

14170
14180
14200
14210
14260

14270
14280
14290
14300
14310
14320
14330
14340
14350
14360
14370
14380
14390
14400
14410
14420
14430
14440
14450
14460
14470
14480
14490
14500
14550

TR R  A22 (4. 198D)

PRINT “<9> A 5"
"GOTO 14700

GOSUB 32000

E1S="x FEEET—TH  sokkx”

FOR X=0 TO 250: CS=INKEYS: IF C$=“ ” THEN NEXT ELSE
GOTO 14210

LOCATE 22, 20: PRINT SPACES$(18);

LOCATE 22, 15: PRINT E1$

GOTO 14160

C=INSTR(*123456789”, CS$): IF C=0 THEN 14160

ON C GOTO 14270, 14300, 14330, 14360, 14390, 14420, 14450, 14480,
14550

J(I)=1: O0(I)=.5: PP(I)=.8

E28="% .5—.8”: E3§=="

GOSUB 33000: GOTO 14160

J(DH=2: 00(I)=.01: PP(D=.1

E28="{580.01—0.1”: E3§=" "~

GOSUB 33000: GOTO 14160

J(I)=3: O0(I)=.96: PP(I)=.995
E28="1H{: /5855 .99—.995": E3S="iFE\RBCE;.96— .98”
GOSUB 33000: GOTO 14160

J(D=4: 00(I)=1!: PP(I)=1.05

E28="{981.02£7%5”: E3s=" "~

GOSUB 33000: GOTO 14160

J(I)=5: 00(I)=10: PP(I)=14

E25="%9% 12 hrs £74”: E3%== "

GOSUB 33000: GOTO 14160

JI)=6: O0(I)=3: PP(I)=5

E28="1984mA A" E3s=" "

GOSUB 33000: GOTO 14160

J(D=7: 00(I)=2: PP(I)=6

E25=""f§ A L”: E3§=" "

GOSUB 33000: GOTO 14160

J(ID)=8: 00(I)=.94: PP(I)=.97

E28="75.96/k£4": E3§=""

GOSUB 33000: GOTO 14160

PRINT CHRS(27); “L0, 285, 399, 381, 0, BF;”:
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14560 LOCATE 22, 15

14570 PRINT “ER#ABEZHRY/N)";

14580 BEEP: FOR KK=1 TO 300: NEXT: BEEP

14590 INPUT « ”, PAS

14600 IF PAS=“Y” OR PAS="“y” THEN 14630

14610 PRINT CHRS (27); “L0, 285, 390, 381, 0, BF;”;

14620 GOTO 14140

14630 IF DL1(I)=0 OR DL2(I)=0 OR WA1(I)=0 OR SP(I)=0 OR T(I)=0

OR H(I)=0 OR M(I)=0 OR WA2(I)=0 OR THEN 14650

14640 GOTO 14800

14650 LOCATE 22, 15

14660 PRINT “{hRIgATTE (FEHE—E)”;

14670 IF INKEY$=" ” THEN 14670

14680 GOTO 14140

14700 *GOSUB 14800

14710 *GOSUB 15500

14720 RETURN

14800 * ek BIEES 8-2 e FEIMERIWEIH s

14810 VO1(I)=V02(5)

14820 VO2(D=INT((Q(5)—V03(5))*(SS2(5)—SS2(1)) *.001)

14830 VO3(D)=INT((DL1(I)*(SB2(5)—SB2(1))—DL2(1)*SS1(6)*T(6)/24)*
Q(6)%.001)

14840 VOT(D=INT(VO1(I)+VO02(1)+VO03())

14850 VO4(D=INT((VOT(D)*.001/((1—WAL(I)*SP(I))))

14860 VO5(I1)=V03(4)+V03(5)+V04(I)

14870 VO6(D)==INT(VO5(D*T(1)/24)

14880 A(D=INT(VO6(D+10/(H(D=M(I))+.5)/10

14890 D(I)=CINT(((A(I)*4/3.14159)0.5)%10)/10

14900 LO1(I)=CINT(10xVO5(I1)/A(1))/10

14910 IF LO1(I)>=16 AND LO1(I)<=36 THEN 15000

14915 PRINT CHRS$(27); “L0, 285, 400, 381, 0, BF;”;

14920 LOCATE 21, 1: PRINT “KEBEKDERE”; LOL(); “CMD/m? Bz}
16~36 &~

14930 PRINT® shErk&sihd » BEEFHTY/N)7;

14940 INPUT *“ », C$

14950 IF C$=“N” OR C$=%n” THEN 15000

14960 PRINT CHRS$(27); “L0, 285, 400, 381, 0, BF;”;
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14970 GOTO 14140

15000 LO2(D)=CINT(10xVOT(I)/AD)*M(1))/10

15010 IF LO2(I1)>=60 AND LO1(I) <=90 THEN 15100

15015 PRINT CHRS$(27); L0, 285, 420, 381, 0, BF;”;

15020 LOCATE 20, 1: PRINT “FERERE"; LO2(I); “kg/m’-day 3}k
60—90 &

15030 PRINT “jh#rk&siAkd » REEFRFT(Y/ND;

15040 INPUT * ”, C$

15050 IF C$=“N” OR C$="n” THEN 15100

15060 PRINT CHRS$(27); “L0, 285, 400, 381, 0, BF;”;

15070 GOTO 14140 '

15100 VO(D)=INT(VO5(D*(1—WA1(D))/(1—=WA2(D))

15110 VO7(D=INT(VO5(I)—VO(I))

15115 PRINT CHRS$(27); “L365, 0, 639, 260, 0, BF;”;

15120 LOCATE 1, 60: COLOR 0, 7: PRINT “g&#&2”: COLOR 7, 0

15130 LOCATE 2, 46: PRINT “#{iibi51R(SS)”; VO1(D); “kg/day”

15140 LOCATE 3, 46: PRINT “&iTiiEyR(SS)”; VO2(1); “kg/day”

15150 LOCATE 4, 46: PRINT “&iiihi5R(BOD)”; VO3(); “kg/day”

15160 LOCATE 5, 46: PRINT “#BRE”; VOT); “kg/day”

15170 LOCATE 6, 46: PRINT “/5jReEs”; VO5(1); “CMD”

15180 LOCATE 7, 46: PRINT “{hiEZE &5, VO6(I); “M® #h#s"; M)

15190 LOCATE 8, 46: PRINT “GHmE#HE"; A); “mAER”; DO); “M”

15200 LOCATE 9, 46: PRINT “X7@EEEH”; LO1(D); “M?*/m?.d”

15210 LOCATE 10, 46: PRINT “E&7#”; LO2(D); “kg/m?.d”

15220 LOCATE 11, 46: PRINT “E#HHIERERES”; VO); “CMD”

15230 LOCATE 12, 46: PRINT “ LEKH#ES”; VO7(D); “CMD”

15240 ’RETURN

15500 * xx BIFER 8-3 wkx EEEFERET ok

15510 LOCATE 15, 50: COLOR 0, 7: PRINT “BEHFZEFHHEH(Y/N)”;: COLOR
7, 0

15520 INPUT « ”, ES

15530 BEEP: FOR KK=1 TO 500: NEXT: BEEP

15540 IF E$="Y” OR ES="y” THEN 15560

15550 GOTO 14720

15560 *T(1)=0: SP(I)=0: H(I)=0 M(I)=0 DL1(I)=0: WA1()=0:
DL2(I)=0:

15565 LOCATE 15, 50: PRINT ¢ »
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15570
16000
16010
16020
16030
16031
16040
16045

16050
16060
16070
16080
16090
16110
16120
16130
16140
16150
16160
16170

16180
16190

16200
16210
16230
16240
16250
16260
16270
16280
16290
16300
16310
16320

GOTO 14140

b

stk Rk sk
Pk BEALEETE I=9 s EIEEF 9-1 sk
T seksesoloioieiooosk el skl Rk R

CLS: LOCATE 1, 30: COLOR 0, 7: PRINT “fR/K&fEz%s": COLOR 7, 0
GOTO 40000

LOCATE 2, 1: CHECK(9)=1
T(D)=8: E1(I)=.33: E2(I)=.5: E3(I)=.0000025: E4(I)=.002: WA(D
=.75: E5(1)=.3: E6(I)=.1

PRINT “<1>>2/ERE (hr) -

PRINT “<2>#EikK -

PRINT “<3>MKiEs  (rpm) - ==

PRINT “<4>K (m?/s) -7

PRINT “<5>Uo (M) ==

PRINT “<6> JRAKEFIREKE -7

PRINT “<7> A KRN S

PRINT “<8>@HiyRinzs - -7

PRINT “<9>#g A"

GOSUB 32000

E1S="%x%x ZHHEEBE—IE sowxx”

FOR X=0 TO 250: C$=INKEYS$: IF C$=" " THEN NEXT ELSE
GOTO 16230

LOCATE 22, 20: PRINT SPACES$(18);

FOR X=0 TO 50: C$=INKEYS: IF C$=* ” THEN NEXT ELSE
GOTO 16230

LOCATE 22, 15: PRINT E1$

GOTO 16170

C=INSTR(*123456789”, C$): IF C=0 THEN 16170

ON C GOTO 16250, 16280, 16310, 16340, 16370, 16400, 16430, 16460, 16580
J(DH=1: O0(H)=4: PP(D=12

ES="REEFEmE": E38=""

GOSUB 33000: GOTO 16170

J(DH=2: 00()=.1: PP()=.9

E2$="{&ft A iis”: E3g=" 7

GOSUB 33000: GOTO 16170

J(DH=3: 00(1)=.08: PP(I)=3

E28="4=%1/12—1/3”: E3§="EE=%1/2—3”
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16330
16340
16350
16360
16370
16380
16390
16400
16410
16420
16430
16440
16450
16460
16470
16480
16580
16585
16590
16600
16610
16620
16630
16640

16650
16660
16670
16680
16690
16700
16710
16800
16810
16820
16830
16840

TERIMHRG w5220 (4.

GOSUB 33000: GOTO 16170

J(ID=4: CO(I)=.0000001: PP(I)=9.999999E-06
E28="Hy Buchner {{3}R§pELZ": E3§=" "~
GOSUB 33000: GOTO 16170

J(ID=5: 00(I)=.0001: PP(I)=.01

E25=“f Buchner iR} E/E 2" E3§=" "
GOSUB 33000: GOTO 16170

J(DH=6: 00(I)=.73: PP(I)=.78
E28="*.73~.78": E33="% 7

GOSUB 33000: GOTO 16170

J(D=7: 00(D)=.3: PP(D)=.5

E28=".3~.5": E3$=" "~

GOSUB 33000: GOTO 16170

J(D=8: 00(I)=.05: PP(I)=.12
E28=".05~.12": E3§=" ~

GOSUB 33000: GOTO 16170

PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;”;
LOCATE 22, 15: PRINT “&H#gABR=K (Y/N)”;
BEEP: FOR KK=1 TO 300: NEXT: BEEP
INPUT * ”, PAS

IF PA$S=%Y” OR PAS=%y” THEN 16640
PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;”;
GOTO 16170

IF T(I)=0 OR E1(I)=0 OR E2(I)=0 OR E3(I)=0 OR
E4(I)=0 OR WA(I)=0 OR E5(I)=0 OR E6(I)=0 THEN 16660
GOTO 16700

LOCATE 22, 15

PRINT “{hREATTE (BE—E)7;

IF INKEYS$=" ” THEN 16680

GOTO 16150

GOTO 16800 BIERA 9-1 FEREREYAH
RETURN

IF CHECK(8)< >0 THEN 16860

LOCATE 14, 1: PRINT “fi ABKEEHBRE K

1987)

PRINT “(K-HEEBHILITRME (FHA);: INPUT * 7, WAIS(D

WAI(I)=VAL(WAI1S(I))
IF WAL(ID<.9 OR WAIL(I) >.99 THEN BEEP: GOTO 16810
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16850
16860
16870

16880

16882
16883
16884
16885
16886
16887
16888
16890
16900
16910
16920
16930
16940
16950
16960
16970
16972
16974
16976
16978
16980
16982
16984
16986
16988
16990
16992
16994
16996

GOTO 16870

WAI(D={1—-WAI1(8))*1000
R(D=INT(10+WA1(I)%1000(1~WA(I))/(1000%(1—WA(D))—WA1
(/10
VE(D)=INT((10+R(I)/(E2(1)%60))*3600%((E4(I1)*+E3(D*E1(D*(E2(D)x
60))0.5)—E4(1)))/10

IF CHECK(8)<>0 THEN 16890

VO1(I)=V02(5)
VO2(D=INT((Q(5)—V03(5))#(552(5)—SS2(1))*.001)
VO3(M=INT(( .5%(SB2(5)—SB2(1))— .05%SS1(6)xT(6)/24)*Q(6)%.001)
VOT (D= VOI1(I)+VO2(1)+VO03(D
VO4(D=INT((VOT(D)*.001/((1—WAI(I))*1.02)))
VO(8)=VO3(4)+V03(5)+V0O4(D
QAI(D=INT(10+VO(8)*WAI(D*E5(1)/T(1))/10
QA2(D=INT(10+VO(8)*WAI(D*E6(1)/T(I))/10
QA3(D=INT(10xVO(8)*WAI1(I)/T(1))/10
QA=QAI(D+QA2(D+QA3(D
AI(D=INT(QAD)*10/VE(I))/10

E7(I)=.15 B

A2(D=A1(D*(1+E7(D))

LOI)=3000: D(I)=2900 ‘mm
AN(ID)=INT(1000000!+A2(1)/(LOI)*D(I)*3.14159)) -1

IF QA>5000 THEN 16980

L(D=AN(D=(D(I)/1000-+1) ‘m
W({I)=D(1)/1000+2

GOTO 17000

IF QA>20000 THEN 16988

L(D=AN(D*(D(I)/1000--1)\2

W(I)=2+D(1)/1000--3 . ‘m
GOTO 17000

IF QA>70000! THEN 16996 )
L(D=AND=*(D(I)/1000-+1)\3 ’m
W(I)=3+D(I)/1000+4

GOTO 17000

L(D)=AND*(D(I)/1000-+1)\4 'm

16998 W(I)=4xD(I)/1000+5

17000

Dok EEEHEER sekokn

— 134 —




17010
17020
17030
17040
17050
17060
17070
17080
17090
17100
17110
17120
17125
17130
17140
17150
17160
17165
17170
17180
17185

17200 °
LOCATE 1, 60: COLOR 0, 7: PRINT “2§st&:®=”. COLOR 7,0

17210
17220
17230
17240
17250
17260
17270
17280
17290

17400
17410

17420
17430

IF QA>1000 THEN 17040
AN10=1: W10=4
L10=CINT(QA*.04/4): GOTO 17200
IF QA>5000 THEN 17080
AN10=2: W10=5
L10=CINT(QA=*.035/(W10xAN10))
GOTO 17200

IF QA>10000 THEN 17120
AN10=3: W10=6
L10=CINT(QA%*.03/(AN10xW10))
GOTO 17200

IF QA>50000! THEN 17140
AN10=4: W10=9
L10=CINT(QA=*.025/(AN10xW10))
IF QA>70000! THEN 17170
AN10=4: W10=1
L10=CINT(QA%.015/(AN10xW10))
GOTO 17200

AN10=5: W10=10
L10=CINT(QAx*.01/(AN10xW10))
GOTO 17200

ookt FREFIE L ook

LOCATE 2, 45: PRINT “BI%EE”; VE(D); “kg/m?.s”
LOCATE 3, 45: PRINT “ARKMAE"; QAL(D); “kg/hr”
LOCATE 4, 45: PRINT “#Eiin A£&”; QA2(D); “kg/hr”
LOCATE 5, 45: PRINT “EE#inAZE"; QA3(D); “kg/hr”
LOCATE 6, 45: PRINT “BRHRZE15%BEEE"; A2(D); “m?”

. 1987)

LOCATE 7, 45: PRINT “E 2B UERE2900mmD+3000mmL”; AN(I); “FE”

&

LOCATE 8, 45: PRINT “RAKiE"; L); “MEX”, W(I; “ME”
LOCATE 10, 45: PRINT “&E@EE"; ANI1O; “H”; L10; “ME X7,

W10; “MiE”

Tommnios EWEIFDRE  kkkmorks

LOCATE 12, 50: COLOR 0, 7: PRINT “BEBEFZIH(Y/N)”;: COLOR

7, 0
INPUT *“ 7, ES
BEEP: FOR KK=1 TO 500: NEXT: BEEP
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17440
17450
17460
17465
17470
17990
18000

18010
18020
18030
18040
18050
18060
18080
18090

18100
18110
18120
18130
18135
18136
18140

18150
18160
18170
18180
18190
18200
18210
18220
18230
18240

18250

TEHYEG TS 52288 (4. 1987)

IF E§="Y” OR ES$="y” THEN 17460
GOTO 16710
LOCATE 12, 50: PRINT * 7

PRINT CHRS$(27); “L0, 300, 399, 381, 0, BF;”;

GOTO 16150

T seekielkkclbtciorksor FIHI R TFEEZ EE R seorsorksekseoksototok otk

CLS: KEY OFF: LOCATE 1, 36: COLOR 0, 7: PRINT “HAEHR":
COLOR 7, 0: LOCATE 1, 55: PRINT “,%E%"F—E (FEE—g)”

LOCATE 2, 1: PRINT “mﬁaufﬁ” . “(CMD)”
LOCATE 2, 41: PRINT “HEkHERE M; “(CMD)”

LOCATE 3, 1: PRINT “#jikBOD”; SBl(l);” (mg/ L)

LOCATE 3, 41: PRINT “#¥%%7SS”; SS1(1);” (mg/f)

LOCATE 4, 1: PRINT “pifi/kBOD”; SB2(1);” (mg/f)

LOCATE 4, 41: PRINT “jiASS”; SS2(1);” (mg/4)

LOCATE 5, 30: COLOR 0, 7: PRINT “$fizk3:B#iExKZE”: COLOR 7, 0
LOCATE 6, 1: PRINT “&:tE”; QD2; “ CMD #izkdt 13h”; L(2);
ME X7

LOCATE 6, 41: PRINT “FiEEH#E”;, HP; “HP”

LOCATE 7, 1: PRINT W(2); *ME X", R<2) SMERTE K REHZE"; E2)
LOCATE 7, 41: PRINT “BRE#FAKE"; AN; * Z= » Hh—EHER”

LOCATE 8, 1: PRINT “HK#E2E”, H3(2);” (M)

IF CHECK(2)=0 THEN QD2=0: GOTO 18140
QD2=INT(QD2/(AN—1))

LOCATE 8, 41: PRINT “Z”; HP; “HPx”; QC2; “CMDx”; H3(2);”
(M)

LOCATE 9, 37: COLOR 0, 7: PRINT “#/5#”: COLOR 7, 0
LOCATE 10, 1: PRINT “410037 /7% T KBT{hEREE"; B2(3);” %
LOCATE 10, 41: PRINT “ipat”; W(3);” (kg/day)

LOCATE 11, 1: PRINT “Hig4= &7K2"; E(3)

LOCATE 11, 41: PRINT “/5jEEERE"; VO(3);” (M?/day)
LOCATE 12, 1: PRINT “#HHF%%Z!;@%” SP(3)

LOCATE 12, 41: PRINT *© b ; Q(8); “CMD”
LOCATE 13, 37: COLOR 0, 7: PRINT “y{i#byh”: COLOR 7, 0
LOCATE 14, 1: PRINT “EgKRE 7; TM,;” ()

LOCATE 14, 41: PRINT “HBH”; MM); “ih 7;

L(4); “MEx”; W(4); “MEx”; H4); “MAZTKE"

LOCATE 15, 1: PRINT “4g100037 5K FAB&ETLEE”; R(4)
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18260 LOCATE 15, 41: PRINT “i£i#7KSS”; SS1(4); “(mg/£)”
18270 LOCATE 16, 1: PRINT “fipz&HKE"; E(4)
18280 LOCATE 16, 41: PRINT “[Giit”; VO2(4); “(kg/day)”
18290 LOCATE 17, 1: PRINT “WiWZIE”; SP(4)
18300 LOCATE 17, 41: PRINT “/BiRiH”; VO3(4); “(CMD)”
18310 LOCATE 18, 37: COLOR 0, 7: PRINT “iiiih”: COLOR 7, 0
18320 LOCATE 19, 1: PRINT “{EgkE] 7; T(G); “(hE)”
18330 LOCATE 19, 41: PRINT “IZH”; M(5); “hE"; L(B);
“MxE”; W(E); “MxERKE”; H(G)
18340 LOCATE 20, 1: PRINT “BHIEEMHZR"; LOGB); “(M?/m2.d)”
18350 LOCATE 20, 41: PRINT “5 H&EKL/E » H#EEE”; LWEG):” (M)
18360 LOCATE 21, 1: PRINT.“SS=pxz  ”; DL(5)
18370 LOCATE 21, 41: PRINT /B E”; V02(5); “(kg/day)”
18380 LOCATE 22, 1: PRINT “4ERZ4KE"; EG)
18390 LOCATE 22, 41: PRINT “/BREF”; VO3(5); “(CMD)”
18400 LOCATE 23, 1: PRINT “:/BRZHE”; SP(5B);:
LOCATE 23, 41: PRINT “H{7kSS”; SS2(5); “(mg/4)”
18420 LOCATE 24, 1: PRINT “VSSf5BRE"; RA2(5);:
LOCATE 24, 41: PRINT “H{7kBOD”; SB2(5); “(mg/4)”;
18440 IF INKEYS$=" " THEN 18440
18445 BEEP: FOR KK=1 TO 500: NEXT: BEEP
18450 CLS: LOCATE 1, 36: COLOR 0, 7: PRINT “ZiBE®”: COLOR 7, 0
18460 ON C2 GOTO 18470, 18610, 18770
18470 LOCATE 2, 34: COLOR 07,: PRINT “/&#:i5y2%”: COLOR 7, 0
18480 LOCATE 3, 1: PRINT “JE¥:BIRH”; RAL(E)
18490 LOCATE 4, 1: PRINT “E¥iBIRIEE”; RI(6)
18500 LOCATE 5, 1: PRINT “BODERETR”; LOL(6)
18510 LOCATE 6, 1: PRINT “BODZEHEER”; LO2(6)
18520 LOCATE 7, 1: PRINT “#Xz#k1kg BODFZEEE”; DOB (6)

T EEE
18530 LOCATE 8, 1: PRINT “MLSS{zREATFEEE"; DOS(E)
18540 LOCATE 9,
4

= b e a3

: PRINT “S®I7Z"; AB(6)
18550 LOCATE 3, 41: PRINT “{@&gi”; T(6); “(hrs)”
18560 LOCATE 4, 41: PRINT “iff”; M(6);” ¥
18565 LOCATE 5, 41: PRINT “#ih#E”; L(6); “ MXE”; W(6); “MXA%
K7, H(6); “M”
18570 LOCATE 6, 41: PRINT “BODZ:xz:”; CINT(DL(6)%100); “%”
18580 LOCATE 7, 41: PRINT “{Bygi%”: T1(6); “H”
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18590 LOCATE 8, 41: PRINT “E&£”; DO(6); “(kg-O/day)”
18600 LOCATE 9, 41: PRINT “Z4&£E”; QA(6); “(M*/day)”
18605 GOTO 18870

18610 LOCATE 2, 38: COLOR 0, 7: PRINT “RBCy:”: COLOR 7, 0

18620 LOCATE 3, 1: IF C3= 1 THEN PRINT “gjAntoniel:st &
18630 IF C3=2 THEN PRINT “#j A g KBOD&F B 5"

18640 LOCATE 4, 1: PRINT “HRELEERE » 3£, M(6); “H » HBERE;

MA(6); “K”
18650 LOCATE 5, 1:
18660 LOCATE 6, 1:
18670 LOCATE 7, 1: PRINT “[E#REE”; TH(6); “(mm)”
18680 LOCATE 8, 1: PRINT “iEkz”; WA(6)

18690 LOCATE 4, 41: PRINT “[=8&BR”; T(6); “(hrs)”

18700 LOCATE 5, 41: PRINT “E#EZRE"; V0O2(6); “(M®”
18710 IF C3=2 THEN 18740

18720 LOCATE 6, 41: PRINT “AEBEHEM”; HL(6); “(¢/m?-d)”
18730 GOTO 18750

: PRINT “£[E#EER”; L(6); “(M), ”L?“C—ié”; D(6); “(M)”
PRINT “[EfZEEEER EMBE": IN; “(M)”

18740 LOCATE 6, 41: PRINT “j£kBODEZ”; BL(6); “(g/m?+d)”

18750 LOCATE 7, 41: PRINT “BODZzs”; DL(6); “%”
18760 LOCATE 8, 41: PRINT “WEEHHE (GE)”; G; “(4/md)”
18765 GOTO 18870

18770 LOCATE 2, 32: COLOR 0, 7: PRINT “EziEE%E”: COLOR 7, 0

18780 LOCATE 3, 1: PRINT “f§EBI”; RA(6)

18790 LOCATE 4, 1: PRINT “g—F#hiL”; M1(6); “SBEA”; D1(6); “ME”;

Hi(6); “M” .

18800 LOCATE 4, 41: PRINT “JBRIE”; VO1(6); “(M)ERER”; D(6);
“(mm)”

18810 LOCATE 5, 1: PRINT “BOD&7%;”; BL1(6); “(kg/mz «day)”

18820 LOCATE 5, 41: PRINT “BOD £pazs”; DL1(6) “%

18830 LOCATE 6, 1: PRINT “fBihdt”; M2(6); “whE&K”; D2(6); “M &E”;
H2(6); “M”

18340 LOCATE 6, 41: PRINT “JER&E"; VO2(6); “(M®) EREE”; D(6);
“(mm)”

18850 LOCATE 7, 1: PRINT “BOD&7”; BL2(6); “(kg/m2eday)”
18860 LOCATE 7, 41: PRINT “BODZFxzs”; DL2(6); “%

18870 IF C2=1 THEN KL=9

18880 IF C2=2 THEN KL=8



18890
18895
18900
18910
18920
18930
18940

18950
18960

18970
18980
18990
19000
19010
19020
19030
19040

19050

19060
19070

19080
19090
19100
19110
19120
19130
19140
19150
19160
19170

19210

ToRIGAw o2m (4. 1987)

IF C2=3 THEN KL=7

IF CHECK(6)=0 THEN KL=1

LOCATE (KL-+1), 32: COLOR 0, 7: PRINT “E&#{i/&i#h”: COLOR 7, 0
LOCATE (KL-+2), 1: PRINT “ZHiEE”; T(7);” (hrs)

LOCATE (KL-+2), 41: PRINT “RHEbE"; M@);” i

LOCATE (KL+3), 1: PRINT “#&iuiEfE”; A®);” (m?)

LOCATE (KL-+3), 41: PRINT “&”; L(7); “MxE”; W(7); “MxAHK
w7, H(TD; “M”

LOCATE (KL+4), 1: PRINT “EFER&MZ"; LOL(7); “(CMD/M)”
LOCATE (KL+4), 41: PRINT “5 kil » SHES”; LWL(T); “MX
50cm&”

LOCATE (KL+5), 1: PRINT “S@EEMZA”; LO2(7); “(M?%/m?.day)
LOCATE (KL+5), 41: PRINT “SS#%kz”; DL(7); “%”

LOCATE (KL+6), 32: COLOR 0, 7: PRINT “/5JRi& %#”: COLOR 7, 0
LOCATE (KL+7), 1: PRINT “IJ{ihi5yR(SS)”; VO1(8); “(kg/day)”
LOCATE (KL-+7), 41: PRINT “{E&g5R"; T(8);” (hrs)

LOCATE (KL+8), 1: PRINT “&{ihiBIR(SS)”; V02(8); “(kg/day)”
LOCATE (KL+8), 41: PRINT “E#EBERSKE”; WA2(8)

LOCATE (KL+9), 1: PRINT “&i{iihiEE (BOD)”; VO3(8); “(kg/

day)” ‘
LOCATE (KL+9), 41: PRINT “E#@EERE"; VO6(8); “(M®), EHE";
M(8)

LOCATE (KL+10), 1: PRINT “#FERE”; VOT(8); “(kg/day)
LOCATE (KL+10), 41: PRINT “H/#ERE"; AQB); “(mHTHEEK”;
D(8); “(M)”

LOCATE (KL+4+11), 1: PRINT “/HiRER"; VOT(8); “(kg/day)”
LOCATE (KL+11), 41: PRINT “KIEEAER”; LO1(8); “(M?/m?.d)”
LOCATE (KL+12), 1: PRINT “%£{kBODHERE#RE"; DL1(8)
LOCATE (KL-+12), 41: PRINT “EHEE7"; L0O2(8); “(kg/m®«d)”
LOCATE (KL+13), 1: PRINT “EAH{TEILZE"; DL2(8); “(4/day)”
LOCATE (KL+413), 41: PRINT “BfEHHHRERS”; VO(8); “(CMD)”
LOCATE (KL+14), 1: PRINT “&Kkz&”; WAL(8)

LOCATE (KL+15), 1: PRINT “HE”; SP(8);

LOCATE 1, 60: INPUT “g_L—E(Y/N)”; BS: BEEP: FOR KK=1 TO
500: NEXT: BEEP: IF B$="Y” OR B$="“y” THEN GOTO 18000
CLS: LOCATE 1, 32: COLOR 0, 7: PRINT “EzZEE#": COLOR 7, 0
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19220
19230
19240
19250
19260
19270
19280
19290
19300

19310

20000
30000
30010
30020
30030
30040
30050
30055
30056
30060
30070
30080
30090
30100
30110
30120
30130
30140
30150
30155
30170
30180
30190
32000
32010

LOCATE 2, 1: PRINT “@{EpE”; VE(D); “kg/m?2es”

LOCATE 2, 41: PRINT “BAHEKMAE”; QAI(D); “kg/hr”
LOCATE 2, 1: PRINT “@EmAE”; QA2(D); “kg/hr”

LOCATE 3, 41: PRINT “EEZMAE"; QA3D; “kg/hr”
LOCATE 4, 1: PRINT “BA#hzZ515% BIEmEE"; A2(1); “m?”
LOCATE 4, 41: PRINT “[EZBIE#2900mmD X 3000 mmL”; AN(I); “g&”
LOCATE 5, 1: PRINT “RRA#E"; L(D; “MEX”;, WI); “ME”
LOCATE 7, 32: COLOR 0, 7: PRINT “#&z#”: COLOR 7, 0
LOCATE &, 1: PRINT “FEBEBEE", ANI10; “&”; L10; “MEX”; W10;
“ME?

LOCATE 1, 60: INPUT “[E —E(Y/N)”; BS: BEEP: FOR KK=1
TO 500: NEXT: BEEP: IF B$§=“Y” OR BS$=*y” THEN GOTO 18450
GOTO 600

P seekecielieiooieiolork BB A BB IERE  siorkisoksciukokoiskokofor

IF PP1=0 THEN 30120

IF (PP1>=00(1) AND PPi<=PP(I)) THEN 30180

BEEP

LOCATE 21, 27

PRINT “EHEJGEFEIEERS”

LOCATE 22, 30

PRINT “BRERAKHERL”

LOCATE 23, 27

PRINT “BEEFRACN/N)7;

INPUT = 7, PAS

PRINT CHRS$(27); “L0, 310, 399, 381, 0, BF;”;

IF PAS=“N” OR PA$="n” THEN 30180

GOTO 33000

LOCATE 23, 32

PRINT “ER$EZR EFWAT;

PLAY “MFMLO3CC”

PLAY “MFMLO2CC”

PRINT © 7,

GOTO 33000

PRINT CHRS$(27); “Lo0, 300, 399, 381, 0, BF;”;

RETURN

P ssopoksckiceliiook EORMEG ARV EEEREE  sekesiorsokekolokokolok

LOCATE 19, 64
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32020
32030
32040
32050
32060
32070
32080
32090
32100
32110
32120
32130
32140
32150
32160
33000
33010
33015
33016
33017
33020
33030
33040
33050
33060
33070

LERGASE 55020 (4.

COLOR 0, 7

PRINT "W ARV TERE"

COLOR 7,0

LOCATE 21, 51

PRINT “<A> A8 A R RIPTR H5R55”
LOCATE 22, 51

PRINT “<B>#AEE”

LOCATE 23, 51

PRINT “<C>EBEHREIER"

LOCATE 24, 51

PRINT “B#Z A A5

LOCATE 1, 1

PRINT CHRS(27); “L400, 268, 639, 381, B;”;
LOCATE 1, 1

RETURN

Tosercieeor ZIFESR  kwksoksk IBRFIGA BRI ERH
PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;”;
LOCATE 20, 1: PRINT E2$

LOCATE 21, 1: PRINT E3$

K=0

LOCATE 23, 1

PRINT “#g A <”;

FOR K=1 TO 9

IF J(ID<>K THEN NEXT

COLOR 0, 7: PRINT K;: COLOR 7, 0
PRINT “>my&H";

Kksksk ek skok kR

1987)

33080 ON I GOTO 33090, 33300, 33800, 34000, 34200, 34600, 35800, 36200, 36500

34600
34605
34610
34620
34630
34640
34650
34660
34670
34680

ON C2 GOTO 34605, 35000, 35400
IF C1=1 THEN 34800

ON K GOTO 34620, 34650, 34680, 34710, 34740, 34770, 34792
INPUT * 7, RA1$(I): PP1=VAL(RA1$(I)): GOSUB 30000

LOCATE 2, 40: PRINT *© ”

RA1(ID=PP1: LOCATE 2, 40: PRINT RA1(I): GOTO 34900
INPUT * 7, RISS$(I): PP1=VAL(RISS$(I)): GOSUB 30000

LOCATE 3, 40: PRINT * 7

RISS(I)=PP1: LOCATE 3, 40: PRINT RISS(I): GOTO 34900
INPUT « 7, LO13(I): PP1=VAL(CLO1$(I)): GOSUB 30000
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34690 LOCATE 4, 40: PRINT * ?

34700 LO1(I)=PP1: LOCATE 4, 40: PRINT LO1(I): GOTO 34900
34710 INPUT « 7, LO2%(1): PP1=VALCLO25(I)): GOSUB 30000
34720 LOCATE 5, 40: PRINT *© 7

34730 LO2(1)=PP1: LOCATE 5, 40: PRINT LO2(I): GOTO 34900
34740 INPUT = ”, H$(I): PP1=VALCHS$()): GOSUB 30000

34750 LOCATE 6, 40: PRINT *© ?

34760 H(ID)=PP1l: LOCATE 6, 40: PRINT H(I): GOTO 34900
34770 INPUT *« ”, M$(I): PP1=VAL(MS$(I)): GOSUB 30000
34780 LOCATE 7, 40: PRINT * ?

34790 M(I)=PP1: LOCATE 7, 40: PRINT M): GOTO 34900
34792 INPUT = ”, RA2$(I): PP1=VAL(RA2$(I)): GOSUB 30000
34793 LOCATE 8, 40: PRINT * ? '

34794 RA2(I)=PP1: LOCATE 8, 40: PRINT RA2(I): GOTO 34900
34800 ON K GOTO 34810, 34840, 34870

34810 INPUT * ”, DOB$(I): PP1=VAL(DOBS(I)): GOSUB 30000
34820 LOCATE 12, 40: PRINT *© ?

34830 DOB(I)=PP1: LOCATE 12, 40: PRINT DOB({): GOTO 34900
34840 INPUT *« ”, DOSS$(I): PP1=VAL(DOS$(I)): GOSUB 30000
34850 LOCATE 13, 40: PRINT *© ?

34860 DOS(I)=PP1: LOCATE 13, 40: PRINT DOS(1): GOTO 34900
34870 INPUT “ ”, ABS(I): PP1=VAL(CASS$(I)): GOSUB 30000
34880 LOCATE 14, 40: PRINT =« ?

34890 AB(ID=PP1: LOCATE 14, 40: PRINT AB(I): GOTO 34900
34900 PRINT CHRS(27); “L0O, 285, 399, 381, 0, BF;”;

34910 GOSUB 32000

34920 C1=0

34930 RETURN

34940 7 smskkkkrn (D=6 sorsmsksokokon

35000 ON K GOTO 35010, 35040, 35070, 35100, 35130, 35200

35010 INPUT *« », D$(I): PP1=VAL(DS(I)): GOSUB 30000

35020 LOCATE 2, 40: PRINT * 7

35030 D(I)=PP1: LOCATE 2, 40: PRINT D(I): GOTO 35230
35040 INPUT ©« 7, INS(I): PP1=VAL(NS(I)): GOSUB 30000
35050 LOCATE 3, 40: PRINT *© ?

35060 IN(I)=PP1: LOCATE 3, 40: PRINT IN(I): GOTO 35230
35070 INPUT © », THS(I): PP1=VAL(THS$(I)): GOSUB 30000
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35080
35090
35100
35110
35120
35130
35140
35150
35160
35170
35180
35190
35200
35210
35220
35230
35240
35250
35260
35400
35410
35420
35430
35440
35450
35460
35470
35480
35490
35500
35510
35520
35530
35540
35550
35560
35570

TRTHVrd 22l (.

LOCATE 4, 40: PRINT *© 7

TH(I)=PP1l: LOCATE 4, 40: PRINT TH(I): GOTO 35230
INPUT * 7, WAS(I): PP1=VAL(WAS(I)): GOSUB 30000
LOCATE 5, 40: PRINT © 7

WA(D)=PP1: LOCATE 5, 40: PRINT WA((D): GOTO 35230
IF C3=2 THEN 35170

INPUT « », HLS(I): PP1=VALCHLS(I)): GOSUB 30000
LOCATE 6, 40: PRINT © ” :
HL(I)=PP1: LOCATE 6, 40: PRINT HL(I): GOTO 35230
INPUT « », BLS(I): PP1=VAL(BLS$(I)): GOSUB 30000
LOCATE 6, 40: PRINT © ?

BL(I)=PP1: LOCATE 6, 40: PRINT BL(I): GOTO 35230
INPUT © ”, M$(D): PP1=VALMS()): GOSUB 30000
LOCATE 7, 40: PRINT © ?

M(I)=PP1: LOCATE 7, 40: PRINT M(I): GOTO 35230
PRINT CHRS(27); “L0, 285, 399, 381, 0, BF;”;

GOSUB 32000

RETURN

Tpdkkok [m=6-2 sk

ON K GOTO 35410, 35440, 35470, 35500, 35530, 35560, 35590
INPUT « ”, RAS(I): PP1=VAL(RAS()): GOSUB 30000
LOCATE 2, 40: PRINT *© ?

RA(I)=PP1l: LOCATE 2, 40: PRINT RA(D): GOTO 35620
INPUT « 7, DS(I): PP1=VAL(DS(1)): GOSUB 30000
LOCATE 3, 40: PRINT * ”

D(I)=PP1l: LOCATE 3, 40: PRINT D(I): GOTO 35620
INPUT © ”, HL1$(I) : PPI=VALCHL13(I)): GOSUB 30000
LOCATE 4, 40: PRINT *© ?

HL1(I)=PP1: LOCATE 4, 40: PRINT HL1(I): GOTO 35620
INPUT * 7, BL1S(I): PP1=VAL(BL1S(I)): GOSUB 30000
LOCATE 5, 40: PRINT *« ?

BL1(I)=PP1: LOCATE 5, 40: PRINT BL1(I): GOTO 35620
INPUT “ », BL28(I): PP1=VAL(BL25(I)): GOSUB 30000
LOCATE 6, 40: PRINT * ?

BL2(I)=PP1l: LOCATE 6, 40: PRINT BL2(I): GOTO 35620
INPUT ©“ 7, M1S(I): PP1=VAL(M1S$(I)): GOSUB 30000
LOCATE 7, 40: PRINT *© ?
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35580 M1(I)=PP1: LOCATE 7, 40: PRINT M1(I): GOTO 35620
35590 INPUT * 7, M23(I): PP1=VAL(M2$(I)): GOSUB 30000
35600 LOCATE 8, 40: PRINT © ?

35610 M2(I)=PP1: LOCATE 8, 40: PRINT M2(I): GOTO 35620
35620 PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;”;

35630 GOSUB 32000

35640 RETURN

35800 ON K GOTO 35810, 35840, 35870, 35900, 35960

35810 INPUT « ”, T$(I): PP1=VAL(TS$()): GOSUB 30000
35820 LOCATE 2, 40: PRINT © ?

35830 T(I)=PP1: LOCATE 2, 40: PRINT T(I): GOTO 36000
35840 INPUT * ”, H$(I): PP1=VAL(HS$(I)): GOSUB 30000
35850 LOCATE 3, 40: PRINT © ?

35860 H(I)=PP1: LOCATE 3, 40: PRINT H(I): GOTO 36000
35870 INPUT © », M$(I): PP1=VAL(MS$(I)): GOSUB 30000
35880 LOCATE 4, 40: PRINT * ?

35890 M(I)=PP1: LOCATE 4, 40: PRINT M(I): GOTO 36000
35900 INPUT © ”, RA1$(I): PP1=VAL(RAI1$(I)): GOSUB 30000
35910 LOCATE 5, 40: PRINT © ?

35920 RA1(I)=PP1: LOCATE 5, 40: PRINT RA1(I): GOTO 36000
35960 INPUT © », LO1$(I), PP1=VAL(LO18(I)): GOSUB 30000
35970 LOCATE 6, 40: PRINT * 7

35980 LO1(I)=PP1: LOCATE 6, 40: PRINT LO1(I): GOTO 36000
36000 PRINT CHRS$(27); “LO0, 285, 399, 381, 0, BF;”;

36010 GOSUB 32000

36020 RETURN -
36200 ON K GOTO 36210, 36240, 36270, 36300, 36330, 36360, 36390, 36420

36210 INPUT © ”, DL1$(I): PP1=VAL(DL1$(I)): GOSUB 30000
36220 LOCATE 2, 38: PRINT * 7

36230 DL1(I)=PP1: LOCATE 2, 38: PRINT DL1(I): GOTO 36460
36240 INPUT © », DL28(I): PP1=VAL(DL2$(I)): GOSUB 30000
36250 LOCATE 3, 38: PRINT * ”

36260 DL2(I)=PP1: LOCATE 3, 38: PRINT DL2(I): GOTO 36460
36270 INPUT « ”?, WA1$(I): PP1=VAL(WA1$(I)): GOSUB 30000
36280 LOCATE 4, 38: PRINT © 7

36290 WA1(I)=PP1: LOCATE 4, 38: PRINT WAI(I): GOTO 36460
36300 INPUT « », SP$(I): PP1=VAL(SP3(I)): GOSUB 30000
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36320
36330
36340
36350
36360
36370
36380
36390
36400
36410
36420
36430
36440
36460
36470
36480
36500
36510
36520
36530
36540
36550
36560
36570
36580
36590
36600
36610
36620
36630
36640
36650
36660
36670
36680
36690

TERIBAGE 5220 (4. 1987)

LOCATE 5, 38: PRINT © ”

SP(I)=PP1: LOCATE 5, 38: PRINT SP(I): GOTO 36460
INPUT * 7, TS(I): PP1=VAL(TS(I)): GOSUB 30000
LOCATE 6, 38: PRINT © 7

T({I)=PP1: LOCATE 6, 38: PRINT T(I): GOTO 36460
INPUT = », HS$(I): PP1=VAL(CHS(I)): GOSUB 30000
LOCATE 7, 38: PRINT © 7

H(I)=PP1: LOCATE 7, 38: PRINT H(I): GOTO 36460
INPUT * 7, MS(I): PP1=VAL(MS(I)): GOSUB 30000
LOCATE 8, 38: PRINT * 7

M(I)=PP1: LOCATE 8, 38: PRINT M(I): GOTO 36460
INPUT * », WA28(I): PP1=VAL(WA2S(I)): GOSUB 30000
LOCATE 9, 38: PRINT * 7

WA2(ID=PP1: LOCATE 9, 38: PRINT WA2(I): GOTO 36460
PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;”;

GOSUB 32000

RETURN

ON K GOTO 36510, 36540, 36570, 36600, 36630, 36660, 36690, 36720
INPUT * 7, T$(I): PP1=VAL(TS(I)): GOSUB 30000
LOCATE 2, 35: PRINT * 7

T(I)=PP1: LOCATE 2, 35: PRINT T(I): GOTO 36760
INPUT = 7, E18(I): PP1=VAL(E1$(I)): GOSUB 30000
LOCATE:SSS PRINT * 7

EI(ID)=PP1: LOCATE 3, 35: PRINT E1(I): GOTO 36760
INPUT * 7, E28(1): PP1=VAL(E2$(I)): GOSUB 30000
LOCATE 4, 35: PRINT *© 7

E2(I)=PP1: LOCATE 4, 35: PRINT E2(I): GOTO 36760
INPUT * 7, E38(I): PP1=VAL(E3$(I)): GOSUB 30000
LOCATE 5, 35: PRINT © 7

E3(I)=PP1: LOCATE 5, 35: PRINT E3(I): GOTO 36760
INPUT * 7, E48(I): PP1=VAL(E4$(1)): GOSUB 30000
LOCATE 6, 35: PRINT © 7

E4(I)=PP1: LOCATE 6, 35: PRINT E4(I): GOTO 36760
INPUT * 7, WAS(I): PP1= VAL(WAS(I)): GOSUB 30000
LOCATE 7, 35: PRINT * 7

WA(D)=PP1: LOCATE 7, 35: PRINT WA(D): GOTO 36760
INPUT * 7, E5S(I): PP1=VAL(ES5S(I)): GOSUB 20000
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36700 LOCATE 8, 35: PRINT * ?

36710 E5(I)=PP1: LOCATE 8§, 35: PRINT E5(I): GOTO 36760

36720 INPUT * 7, E63(1): PP1=VAL(E6$(1)): GOSUB 30000

36730 LOCATE 9, 35: PRINT * ?

36740 E6(I)=PP1: LOCATE 9, 35: PRINT E6(I): GOTO 36760

36760 PRINT CHRS$(27); “L0, 285, 399, 381, 0, BF;”;

36770 GOSUB 32000

36780 RETURN

40000 LOCATE 2, 2: PRINT “<1>&Ft4&m”

40010 LOCATE 3, 2: PRINT “<2>#%&t”;: INPUT * 7, CC$

40020 IF CC$<>“1” AND CC$<>“2” THEN 40000

40030 IF CC$="1” THEN 40050 V '

40040 ON I GOTO 100, 1535, 4035, 5035, 6035, 8035, 12535, 14035, 16040
40050 LOCATE 4, 2: BEEP: PRINT “Are you sure? (Y/N)”;: INPUT “ 7,

CDs

40051 IF CD$<>"Y” AND CD$<>“N” AND CD$<>"y” AND CD§<>“n”
THEN 40050

40052 IF CD$=“N”" OR CD$=“n” THEN LOCATE 4, 2: PRINT”: GOTO
40000

40060 ON I GOTO 40060, 40070, 40090, 40110, 40130, 40150, 40180, 40200, 40220

40070 QD1=QA#1.03: CHECK(2)=0

40080 GOTO 1940

40090 Q(3)=0: CHECK(3)=0

40100 GOTO 4400

40110 Q(4)=QD1—Q(3): VO3(4)=0: CHECK(4)=0: IF E(3)=0 THEN
$S1(4)=CINT(QA#*SS1(1)/Q(4)) ELSE SS1(4)=CINT(QA#SS1(1)x
E(3)/Q(4)) ' '

40120 GOTO 5497 |

40130 Q(5)=Q(4)—VO03(4): VO3(5)=0: $52(5)=S51(4): VO2(5)=0:
CHECK(5)=0: SB1(5)=CINT(SBL(1)+QA/(Q(4)—VO03(4)):
SB2(5)=SB1(5)

40140 GOTO 6690

40150 Q(6)=Q(5)—V03(5): SS1(6)=552(5): T(6)=0: CHECK(6)=0

40160 GOTO 8195

40180 CHECK(7)=0

40190 GOTO 13050

40200 CHECK(8)=0
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40210 GOTO 14720

40220 CHECK(9)=0

47000’ dkkork IEIRREL  ekrks

47010 IF QA>1000 THEN 47040

47020 AN10=1: W10=4

47030 L10=CINT(QAx*.04/4): GOTO 47200
47040 IF QA>5000 THEN 47080

47050 AN10=2: W10=5
47060L10=CINT(QA=*.035/(W10+xAN10))
47070 GOTO 47200

47080 IF QA>10000 THEN 47120

47090 AN10=3: W10=6

47100 L10=CINT(QA%*.03/(AN10xW10))
47110 GOTO 47200

47120 IF QA>50000! THEN 47140

47125 AN10=4: W10=9

47130 L10=CINT(QA=*.025/(AN10«W10))
47140 IF QA>70000! THENA47170

47150 AN10=4: W10=10

47160 L10=CINT(QA*.015/(AN10+W10))
47165 GOTO 47200

47170 AN10=5: W10=10

47180 L10=CINT(QA*.01/(AN10+W10))
47200 GOTO 16710

100 7 ek QA==1000 skt

110 OPEN “I”, #1, “DATA”

120 FOR I=1 TO 9

130 INPUT #1, L(D), W), M), D), D1(), D2(I)
140 NEXT I

150 INPUT #1, LW(5), LW1(7), L(9), W(9), L10, W10, M1(6), M2(6), C2
160 FOR I=2 TO 9: INPUT z1, CHECK(I): NEXT I
170 CLOSE #1

180 ’FOR J=0 TO 9

190 KEY OFF

200 PRINT CHRS$(27); “Lo, 0, 639, 381, 0, BF;”;

210 'C2=1: M(6)=2+J: L(6)=9+]: W(6)=5-—]
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220
230

240 "M(2)=1: M) =1+]/2: M(5)=2+4]: M(7)=2+7T: M@®)=1+7J: M(9=1

250

260

280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570

C2=2: M(6)=6—J: L(6)=7—J: D(6)=2.4—J\2
‘C2=3: M1(6)=6—]\2: M2(6)=4—]J\2: D1(6)=54]: D2(6)=4~7]

‘L(2)=2: L(4)=2+2+]: L(5)=6+42x]: L(7)=5--2+]: D(8)=2.8+17:
L(9=5+J: LW(E)=.54+]\2: LWI(7)=".4-+]\2

TW(2)=1: W)="6: W(E)=2+T: W(7)=3-+7J: W(9)=3+]J: L10=4:

W10=2

ON C2 GOTO 290, 340, 400
L=L(4)+W(6)+M(6)+W(2)xM(2)+5

IF (W(7)xM(7)+W(6)«M(6)-+10)< =L THEN 320
L=W(7)«M(7)+W({6)*M(6)-+10

IF (W(E)xM(B)+W(6)=M(6)+10)< =L THEN 530
L=W(5)«M(B)+W(6)«M(6)+10: GOTO 530
MI1(6)=CINT(M(6)/2): M2(6)=M(6)— M1(6)
L=W(2)+L(4)+D(6)+*M1(6)+5

IF (W(7)*M(7)+D(6)*M1(6)-+10)<=L THEN 380
L=W(7)«M(7)+D(6)*M1(6)+10 ‘

IF (W()*M(5)+D(6)+*M1(6)+10)<=L THEN 530
L=W(5)«M(5)+D(6)*M1(6)+10: GOTO 530
M3(6)=CINT(M1(6)/2): M32(6)=M1(6)—M3(6)
M4(6)=CINT(M2(6)/2): M42(6)=M2(6)— —M4(6)

IF D1(6)*M3(6)—D2(6)*M4(6)<=0 THEN 480
L=W(2)+L(4)4D1(6)*M3(6)-5

IF (W(T)*M(7)+D1(6)xM3(6)+10)< =L THEN 460
L=W(7)«M(7)+D1(6)*M3(6)+10

IF (W(5)*M(5)+D1(6)*M3(6)-+10)<=L THEN 530
L=W(5)*M(5)+D1(6)*M3(6)+10: GOTO 530
L=W(2)+L(4)+D2(6)*M4(6)+10

IF (W(7)=M(7)+D2(6)+M4(6)+10)< =L THEN 510
L=W(7)*M(7)+D2(6)«M4(6)+10

IF (W(5)*M(5)+D2(6)*M4(6)+10)< =L THEN 530
L=W(5)+M(5)+D2(6)*M4(6)+-10 '
IF (W(G*M(5)+WI10+L(9)+15)<=L THEN 550
L=W(5)*M(5)+W10+L(9)+15

IF (W(H*M(7)+W10+L(9)+15)<=L THEN 570
L=W(™)+M(7)+W10+L(9)+15

IF (W(7)=M(7)+D(8)+M(8)+1)< =L THEN 590

— 148 —

E—



580
590
600
610
620
630
640
650
660
670
680
690
700
710
720
730
740
750
760
770
780
790
800
810
820
830
840
850
860
870
880
890
900
910
920
930
940

HGUBIER A5224) 4.

L=W(7)*M(7)+D(8)+M(8)+1
W=L(2)+L()+L(7)+11

IF (W(4)*M(4)+L(5)+L(7)+6)<=W THEN 620
W=W(4)+M(4)+L(5B)+L(7)+6

ON C2 GOTO 630, 690, 750

IF (L(6)+L10+D(8)+10)<=W THEN 650
W=L(6)-+L10+D(8)+10

IF (L(6)+L(7)+5)<=W THEN 670

W=L(6)+L(7)+5

IF (L(6)+W(9)+D(8)+2)<=W THEN 810
W=L(6)+W(9)+D(8)+2: GOTO 810

IF (L(6)%2-+L10+D(8)+11)<=W THEN 710
W=L(6)%2+L10+D(8)+21

IF (L(6)*2+L(7)+5)<=W THEN 730
W=L(6)%2+L(7)+5

IF (L(6)%2+W(9)-+D(8)+3)<=W THEN 810
W=L(6)*2+W(9)+D(8)+3: GOTO 810

IF ((D1(6) +D2(6))+2+L10+D(8)+14)<=W THEN 770
W=(D1(6)+D2(6))*2+L10+D(8)+14

IF ((D1(6)--D2(6))*2+L(7)+5)<=W THEN 790
W=(D1(6)+D2(6))#2+L(7)+5

IF ((D1(6)+D2(6))#2-+W(9)+D(8)+6)<=W THEN 810
W=(D1(6)+D2(6))*2+W(9)+D(8)+6

IF (600/L—370/W)<=0 THEN 830

LL=370/W: GOTO 840

LL=600/L

X1=LL: Y1=X1

LOCATE 4, 1: COLOR 0, 7: PRINT “Z”: COLOR 7, 0
LOCATE 8, 1: COLOR 0, 7: PRINT “F&”: COLOR 7, 0
LOCATE 12, 1: COLOR 0, 7: PRINT “[&”: COLOR 7, 0
X2=29: Y2=5

FOR K=1 TO 9

ON K GOTO 2940, 910, 2940, 970, 1070, 1260, 2030, 2440, 2860
X(K)=INT(X2+W(K)*M(K)*X1)
Y(K)=INT(Y2+L(K)*Y1)

IF CHECK(2)=0 THEN 2940

LOCATE 1, 2: PRINT “Hiksk”

— 149 —

1987)



TETGHRER 55221 (4. 1987)

950 PRINT CHRS(27); “L49, 5,”; X(K); ”; Y(K); “B;”:
960 LOCATE 1, 1: GOTO 2940

970 X(K)=INT(X(2)+5+X1+L(K)*YI)

980 Y(K)=Y2

990 YY(K)=INT(W(K)*X1)

1000
1010
1020
1030
1040

1050
1060
1070
1080
1090

1095

1100
1110
1120
1130
1140
1150

1160
1170
1180
1190
1200
1210

1220
1230
1240
1250

S=INT(X(XK)/8)+1

IF CHECK(4)=0 THEN 2940

LOCATE 1, S: PRINT “{Tfbin”

FOR KK1=1 TO M(K)

PRINT CHRS$(27); “L”; INT(X(K)—L(K)*X1): “5,”; X(K); %”; Y(K)

+KK1xYY(K); “B;”;

LOCATE 1, 1: NEXT KK1

GOTO 2940

XX(K)=INT(W(K)*X1)

X(K)=X2

IF CHECK(4)=0 THEN Y(K)=INT(Y(2)+Y1+L(K)*Y1): GOTO

1110

IF L(2)>W(4)+*M(4) THEN Y(K)=INT(Y(2)+Y1+L(K)*Y1): GOTO

1110

Y(K)=INT(Y(4)+M(4)*YY(4)+L(K)*Y1+YI)

VER=INT(Y(K)—L(K)*Y1)/15.24)+2

IF CHECK(5)=0 THEN 2940

LOCATE VER, 4: PRINT “ii#”

FOR KK1=1 TO M(K)

PRINT CHRS$(27); “L29,”; INT(Y(K)—L(K)*Y1); *”; KK1+XX(K)
+X(K); 7 YK B;7;

LOCATE 1, 1

FOR KK2=1 TO 5

A=XX(K)/5

B=KK2+A+X(K)+(KK1—1.09)*XX(K)

C=B+4 .5%X1

PRINT CHRS$(27); “L”; CINT(C); %75 Y(K)—INT(LW(5)*Y1);

“75 INT(B); 7 Y(K); B3

LOCATE 1, 1

NEXT KK2

NEXT KK1

GOTO 2940
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1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380

1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1560
1570
1580

1590
1600

TGP R 55220 (4. 1987)

ON C2 GOTO 1270, 1420, 1650

IF (W(G)*M(5)—W(7)=M(7))<=0 THEN 1300
XEK)=INT(M(5)=XX(5)+X(5)+6+X1)

GOTO 1320

XK)=INTM(7)*W(7)+X1+X2+5%X1)

IF CHECK(5)=0 AND CHECK(7)=0 THEN X(K)=INT(X(4)+5%X1)
XX(K)=INT(W(K)*X1)

Y(K)=INT(Y2+L(6)*Y1)

S=INT(X(K)/8)+3

IF (CHECK(6)=0 THEN 2940

LOCATE 4, S: PRINT “{&#:5R”

FOR KK1=1 TO M(K)

PRINT CHRS$(27); “L”; X(K); “5,”; KKI+XXE)+XX); 7 YXK);
“B;”;

LOCATE 1, 1

NEXT KK1

GOTO 2940

IF (W(5)*M(5)—W(7)*M(7)) <=0 THEN 1450
X1(K)=INT(M(B)*XX(5)+X(5)+6+X1)

GOTO 1470

X1(K)=INT(M(7)*W(7)*X1+X2+5+X1)

IF CHECK(5)=0 AND CHECK(7)=0 THEN X1(K)=INT(X(4)+5%X1)
X2(K)=X1(K)

XX(K)=INT(D(K)*X1)

Y1(K)=INT(Y2+L(6)*Y1)

Y2(K)=INT(Y2+L(6)*2xY1+Y1)

S1=INT(X1(K)/8)+3

S2=S1

R2=INT((Y1(K)+Y1)/15.24)+2

IF CHECK(6)=0 THEN 2940

LOCATE 3, S1: PRINT “s—ERBC”

LOCATE R2, S2: PRINT “#%—ERBC”

FOR KK1=1 TO M1(K)

PRINT CHRS$(27); “L”; X1(K); “5,”; X1(K)+KK1+XX(K); «7;
Y1(K); “B;7;

LOCATE 1, 1: NEXT KK1

FOR KK1=1 TO M2(K)
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1610 PRINT CHRS$(27); “L”; X2(K); *”; Y1(K)+INT(Y1); 7; X2(K)+
KK1+XX(K); “”; Y2(K); “B;”;

1620 LOCATE 1, 1

1630 NEXT KK1

1640 GOTO 2940

1650 IF (W(5)+M(5)—W(7)+M(7))<=0 THEN 1690

1660 X1(K)=INT(M(5)*XX(5)+X(5)+6+X1+D1(K)+X1/2)

1670 X2(K)=INT(M(5)+XX(5)+X(5)+6+X1+D2(K)*X1/2)

1680 GOTO 1720

1690 X1(K)=INT(M(7)*W(7)+X1+X2+5+X1+D1(K)*X1/2)

1700 X2(K)=INT(M(7)+W (7)#X1+X2+5+X1+D2(K)X1/2)

1710 IF CHECK(5)=0 AND CHECK(7)=0 THEN X1(K)=INT(X(4)-+5+X1+
D1(K)*X1/2): X2(K)=INT(X(4)+5+X1+D2(K)+X1/2)

1720 XX1(K)=INT(D1(K)*X1)

1730 Y1(K)=INT(Y2+D1(K)*Y1/2)

1740 Y2(K)=INT(Y1(K)+Y1+D1(K)*Y1/1.4)

1750 Y3(K)=INT(Y2(K)+2+Y1+D2(K)*Y1/1.3)

1760 XX2(K)=INT(D2(K)+X1)

1770 Y4(K)=INT(Y3(K)+Y1+D2(K)*Y1/1.4)

1780 R1=3

1790 R2=INT(Y2(K)/15.24)+1

1800 R3=INT(Y3(K)/15.24)+2

1810 R4=INT(Y4(K)/15.24)+1

1820 S=INT(X1(K)/8) -3

1830 IF CHECK(6)=0 THEN 2940

1840 LOCATE R1, S: PRINT “—B&”

1850 LOCATE R2, S: PRINT “@yE”

1860 LOCATE R3, S: PRINT “&— g

1870 LOCATE R4, S: PRINT “J&y&”

1880 FOR KK1=0 TO M3(K)—1

1890 PRINT CHRS$(27); “C”; X1(K)+KKI+XX1(K); ”; Y1(K); %7
INT(D1(K)*X1/2); ;”;

1900 LOCATE 1, 1: NEXT KK1

1910 FOR KK1=0 TO M32(K)—1

1920 PRINT CHRS$(27); “C”; X1(K)+KK1+XX1(K); ”; YZ(K); “7;
INT(D1(K)+X1/2); ;7

1930 LOCATE 1, 1
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1940 NEXT KK1

1950 FOR KK2=0 TO M4(K)—1

1960 PRINT CHRS$(27); “C”; X2(K)+KK2xXX2(K); ”; Y3(K); ,”;
INT(D2(K)*X1/2); ;7;

1970 LOCATE 1, 1: NEXT KK2

1980 FOR KK2=0 TO M42(K)—1

1990 PRINT CHRS(27); “C”; X2(K)+ KK2+xXX2(K); “7; Y4(K); «”;
INT(D2(K)*X1/2); «;7;

2000 LOCATE 1, 1

2010 NEXT KK2

2020 GOTO 2940

2030 X(K)=X2

2040 XX(K)=INT(W(K)*X1)

2050 ON C2 GOTO 2060, 2140, 2220 N

2060 IF Y(6)—Y(5)—Y2—M(4)*W(4)xY1>=0 THEN 2110

2070 Y(K)=INT(Y(5)+5+«Y1+L(K)*Y1): IF CHECK(7)=0 THEN 2940

2080 R2=INT((Y(K)—L(K)*Y1)/15.24)+2

2090 RI=INT((Y(5)+5%Y1)/15.24)—1

2100 GOTO 2310

2110 Y(X)=INT(Y(6)+L(K)*Y1): IF CHECK(7)=0 THEN 2940

2120 R1=INT(Y(6)/15.24)—1

2130 R2=INT(Y(6)/15.24)+2: GOTO 2310

2140 IF Y2(6)—Y(B)—Y(2)—M(4)*W(4)*Y1>=0 THEN 2190

2150 Y(K)=INT(Y(5)+5+Y1+L(K)*Y1): IF CHECK(7)=0 THEN 2940

2160 R2=INT((Y(5)+6+Y1)/15.24)+2

2170 R1=INT((Y(5)+5+Y1)/15.24)—1

2180 GOTO 2310 ‘ ,

2190 Y(K)=INT(Y2(6)+L(K)*Y1): IF CHECK(7)=0 THEN 2940

2200 R1=INT(Y2(6)/15.24)—1

2210 R2=INT(Y2(6)/15.24)+2: GOTO 2310

2220 IF Y4(6)—Y(5)—Y2—M(4)*W(4)*Y1>=0 THEN 2270

2230 Y(K)=INT(Y(5)+5+Y1+D2(6)*Y1/2+L(K)*Y1): IF CHECK(7)=0
THEN 2940

2240 R2=INT((Y(K)—L(K)*Y1)/15.24)+2

2250 R1=INT ((Y(5)+5%Y1)/15.24)—1

2260 GOTO 2310

2270 Y(K)=INT(Y4(6)+L(K)*Y1): IF CHECK(7)=0 THEN 2940
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IF CHECK(5)=0 AND CHECK(6)=0 THEN Y(K)=INT(Y(4)+5%Y1)

2280
2290
2300
2310
2320
2330
2340

2350
2360
2370
2380
2390
2400

2410
2420
2430
2440
2450
2460
2470
2480
2490
2500
2510
2520
2530
2540
2550
2560
2570

2580
2590
2600
2610

R1=INT(Y4(6)/15.24)—1
R2=INT(Y4(6)/15.24)+2: GOTO 2310
'LOCATE RI, 8: PRINT “%&”
LOCATE R2, 8: PRINT “&iiih”
FOR KK1=1 TO M(K)

PRINT CHRS$(27); “L29,”; INT(Y(K)—L(K)*Y1); «7; X(K)+KK1x

XXEK); 75 Y(K); “B;”;
LOCATE 1, 1

FOR KK2=1 TO 5

A=XX{K)/5
B=KK2+A+X(K)+(KKI1—1.09)*XX(K)
C=B+.5%X1

PRINT CHRS$(27); “L”; CINT(C); “”; Y(R)—INT(LWI1(K)*Y1); «7;

INT(B); “”: Y(XK); “B;”;
LOCATE 1, 1

NEXT KK2: NEXT KK1

GOTO 2940

ON C2 GOTO 2450, 2480, 2510
X10=INT(X(6)+5%X1)
Y10=INT(Y(6)+5+Y1)

GOTO 2530
X10=INT(X2(6)+5+X1)
Y10=INT(Y2(6)+5+Y1)

GOTO 2530
X10=INT(X2(6)+5+X1)
Y10=INT(Y4(6)+5«Y1-+D2(6)%Y1/2)
R=INT(Y10/15.24): S=INT(X10/8)
LOCATE R+1, S: PRINT “4&”
LOCATE R+2, S: PRINT “E”

LOCATE R+3, S: PRINT “&”
PRINT CHRS$(27); “L”; X10; %”; Y10; %”; X10--INT(W10+X1);
Y104+INT(L10+Y1); “B;”;

LOCATE 1, 1

X(K)=INT(X(7)+M(7)+XX(7)+X1+D(K)*X1/2)

XXK)=INT(DEK)*X1)
ON C2 GOTO 2620, 2670, 2720
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2620 IF (Y(6)+(L10+10)+Y1—Y(7))>=0 THEN 2650
2630 Y(K)=INT(Y(7)—D(K)*Y1/2)
2640 GOTO 2770
2650 Y(K)=INT(Y(6)+(L10+6)*Y1+D(K)*Y1/2)
2660 GOTO 2770
2670 IF (Y2(6)--(L10+10)+Y1—Y(7))>=0 THEN 2700
2680 Y(K)=INT(Y(7)—D(K)*Y1/2)
2690 GOTO 2770
2700 Y(K)=INT(Y2(6)+(L10+6)*Y1+D(K)*Y1/2)
2710 GOTO 2770
2720 IF (YA(6)+D2(6)*Y1/2+(L10 +10)*Y1—Y(7))>=0 THEN 2750
2730 Y(K)=INT(Y(7)—D(X)*Y1/2)
2740 GOTO 2770
2750 Y(K)=INT(Y4(6)+D2(6)*Y1/2+(L10+6)xY1+D(K)*Y1/2)
2760 GOTO 2770
2770 S=INT(X(K)/8)+2
2780 R=INT(Y(K)/15.24)+1
2790 IF CHECK(8)=0 THEN 2940
2800 LOCATE R, S: PRINT “j&ifi”;
2810 FOR KK1=0 TO M(K)—1 |
2820 PRINT CHRS$(27); “C”; X(K)+KKI+XX(K); 7; Y(K); %75 INT
(DX)*X1/2)5 375
2830 LOCATE 1, 1
2840 NEXT KK1
2850 GOTO 2940
2860 X(K)=INT(W10%X1+5+X1)+X10
2870 Y(K)=INT(Y(8)—D(8)*Y1/2—Y1—W(K)*Y1)
2880 S=INT(X(K)/8)+4
2890 R=INT(Y(K)/15.24)+2
2900 IF CHECK(9)=0 THEN 2940
2910 LOCATE R, S: PRINT “BKiE"
9920 PRINT CHRS$(27); “L”; X(K); 75 Y(X; %7 X(K)+INT(L(K)*X1);
« . Y(K)+INT(W(K)*Y1); “B;”;
2930 LOCATE 1, 1
2940 NEXT K
2950 XX=CINT(200/X1)/10
0960 PRINT CHRS(27); “L1, 350, 101, 360, BF;”;
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TERTEANS 1 B228] (4. 1987)

2970 LOCATE 1, 1

2980 FOR KK=0 TO 4

2990 X=19

3000 PRINT CHRS$(27); “L”; 24+KK#(X+1); 349,”; (KK+1D+(X+1);
«361, 0, BF;”;

3010 LOCATE 1, 1

3020 NEXT KK

3030 PRINT CHRS(27); “L1, 355, 101, 355, B;”;

3040 LOCATE 1, 1 : ,

3050 LOCATE 25, 1: COLOR 0, 7: MﬂNT“#ﬁ%ﬁ:PRHﬂ‘UHNG
“##.4”; XX;: PRINT “3”;: COLOR 7, 0

3060 LOCATE 18, 1: COLOR 0, 7: PRINT “§#”: COLOR 7,

3070 LOCATE 19, 1: COLOR.0, 7: PRINT “#”: COLOR 7,

3080 LOCATE 20, 1: COLOR 0, 7: PRINT “}”: COLOR 7,

3090 LOCATE 21, 1: COLOR 0, 7: PRINT “1 ”: COLOR 7,

3100 LOCATE 22, 1: COLOR 0, 7: PRINT “: ”: COLOR 7,

3110 LOCATE 23, 1: COLOR 0, 7: PRINT “1 ”: COLOR 7,

3120 IF INKEYS$=* ” THEN 3120 '

3130 NEXT J

3140 RUN “REPORTA”

3150 END

-\1\1\1\1\:
© o o o oo
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